H £ O & A &

g Al A

202485 204 LES|H HENSARS
I3 AL NSFIA3
£ M DSEMN
& M AlEHS NESHEY 2 (SH9 H2)
ARS) - A - FH - GI(S1H) - HRAY - BES Ol &t e Hlm=2
A WSHES 1,567,811,378 1,446,755,591 121,085,787
= 254,122,698
fas 135,869,575
pJ 69,544,000
EN 3,200,000
tH 270,000
Al 1,048,255,105
X 56,550,000
IME=SSEm)} 216,764,240 173,162,725 43,601,515
= 11,129,800
Al 205,634,440
ARIES WEHE PE 201,673,79% 171,707,660 29,966, 135
= 11,129,800
Al 190,543,99%
SARENHS 358,240 220,240 138,000
ns 2l A 29 25,000 25,000 0
201 er2&| 25,000 25,000 0
01 At2teltl 25,000 25,000 0
Ounszd A3 2% 25,000,000 25,000
SARNSHA KA 30,240 30,240 0
201 fer= 3| 3,680 3,680
01 AtR2t2l] 3,680 3,680
OoHsus SE=sU8 2= S M
2,000,000 2,000
OSEg+35 Ha22 sS4l
1,680,000 1,680
203 gR=| 26,560 26,560
03 A= PR F&IH| 26,560 26,560
OZdUEHMHAS WS =8
12,960,000 12,960
Ousze g2 9,400, 0002 9,400
Ounsd A= 4,200,000& 4,200
IEEXR = 2AHEE WEMA N A 300,000 0 300,000
401 AIEHIZL 20| 300,000 300,000
01 AlZHI 300,000 300,000
OJMEX7 =3 2HE2 WSHH AL
& 300,000,000 300,000
A2FH 0™ e 2 3,000 0 3,000
201 ¢Bt2 ] 3,000 3,000
01 At22t2l] 3,000 3,000
OAa%zd 0l S| e ===
3,000,000 3,000
HEzZ 2dX& 129,980, 150 117,641,420 12,338,730
= 3,988,800




A3 AL NS
2 M nsSIEXY
8 I ABEe uSdy e (SH9 H2)
ARS) - A - FH - GI(S1H) - HRAY - BES Ol &t e Hlm=2
Al 125,991,350
HR2Y =288 258,150 186,670 71,480
201 LetE gy 258,150 183,754 74,3%
01 At2teltl 172,320 99,440 72,880
ORgusSiHe M 172,320,000& 172,320
2 =23l 85,830 84,314 1,516
ORgusie 24 & 22
85,830,000 85,830
XISt AL 212 HE AL 9,972,000 7,690,750 2,281,250
= 3,988,800
Al 5,983,200
404 SAISHA=HES 9,972,000 7,690,750 2,281,250
= 3,988,800
Al 5,983,200
01 BAL- SHIA=2HES 9,972,000 7,690,750 2,281,250
OXIGHEAL 312 HE A
9,972,000,0002 9,972,000
= 3,988,800
Al 5,983,200
I NSSAHZE KA 119,750,000 109,764,000 9,986,000
30 HES 115,944,000 99,991,000 15,953,000
01 SAL- SH3dEES 115,944,000 99,991,000 15,953,000
OZAEE 134 23|
63,972,000,000 63,972,000
OZAEE 254 23]
21,419,000,000& 21,419,000
OZANEZ 754 23|
6,331,000,000& 6,331,000
OFg+E28= 24,222,000,000 24,222,000
404 SASEHHENES 1,360,000 7,553,000 6,193,000
01 SAH- SEHA2MES 1,360,000 7,553,000 6,193,000
OZANEZ 754 JSAt 20 X2
560,000,000 560,000
O2SXEII L= Set =2 HAAL
BN = 800,000,000 800,000
502 EXt= 2,446,000 2,220,000 226,000
01 EX= 2,446,000 2,220,000 226,000
OXIGHe =2 A4 - ZHIWH
2,446,000,0002 2,446,000
= SgesH N 56,549,405 49,082,000 7,467,405
= SEESH AY 56,549,405 49,082,000 7,467,405
201 Let2aY| 774,000 764,000 10,000
01 At 2teltl 774,000 764,000 10,000




PR3 ALNSARS
= IMESFSESN);
g ARIES NSy CHe M)
/3| - RA - B O9I(3]) - HRAY - BES of as e HIDS2
OgsNe =2 Usus g2 Ms 82
21,000,000 21,000
OgEXS =0 Hsus =2 M3 AL
INE=T= 753,000,000& 753,000
301 LetE2NS 2,991,405 4,930,000 ~1,988,59%
BIIE2 8= 2,991,405 4,930,000 11,988,595
OgEXg =2 Hsus 22 NS (S
T Sggol) 2,145,045,000& 2,145,045
OgEXS F sus g Ns(LAY
A gsgel) 846,360,000 846,360
307 2I2+01H 52,284,000 43,388,000 8,896,000
9 2+EHELS 52,284,000 43,383,000 8,896,000
OxrsSeasego M2
51,024,000,000& 51,024,000
OZSHA JISSHINE AIEMY S0
1,260,000,000& 1,260,000
308 AXIHSOIA 500,000 500,000
18 SIS0t HAS A 500,000 500,000
OdlA & HEusSHl &s X
500,000,000 500,000
LENSI=AA OtelX XA 28 5,276,000 4,764,000 512,000
= 2,638,000
Al 2,638,000
QENSIHEAN OtdelXl XFAS 5,276,000 4,764,000 512,000
= 2,638,000
Al 2,638,000
308 ARISMSOIE 5,276,000 4,764,000 512,000
= 2,638,000
Al 2,638,000
18 S 1&S0tet [EFAIEHI 5,276,000 4,764,000 512,000
OoZggsusd OrelXl X
5,276,000,000& 5,276,000
= 2,638,000
Al 2,638,000
wsSH #g A 9,006,000 0 9,006,000
= 4,503,000
Al 4,503,000
SuSHl &2 X2 9,006,000 0 9,006,000
= 4,503,000
Al 4,503,000
308 ARISHM SOOI 9,006,000 0 9,006,000
= 4,503,000
Al 4,503,000
13 SO 2 SOIUEHE &4 X 2ASAI I 9,006,000 0 9,006,000
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A HENSHS
2 OA: DNSeHE
8 I ABEe uSdy e (SH9 H2)
LRS- A - FH - S2(3) - HIRAY - BHES Ol &beH &ﬁg‘% Hns2
01 At 21| 30,000 30,000 0
ONY2AL HAZ NABtY 222 S Xl
& 30,000,000 30,000
301 LBtE A3 310,000 380,000 AT70,000
= 93,000
Al 217,000
14 OIEtB A2 310,000 380,000 AT70,000
ODNYSHA} HEZ XXBte DSH| X
310,000,000 310,000
= 93,000
Al 217,000
WEAX 0lSHOY M2 100,000 100,000 0
201 LEr2AY] 100,000 100,000
01 At22t21HI 100,000 100,000
OWLEAR} O|SHOAIL JIERES A
100,000,000 100,000
JHOIE OISHXI(PW) OHEO0IE & 50,000 50,000 0
201 LBt A 15,000 50,000 35,000
01 At 2-21H] 15,000 50,000 35,000
OJMelel OISEXI(PM) S oHX0IB B
15,000,000 15,000
308 XHXISHHISOI& 35,000 0 35,000
13 I 2SS B A H I E AL 35,000 0 35,000
OMols OISEXI(PM) S 23RIEH 28 £
2 35,000,000 35,000
AQIEHS| BHNSHY 7& 975,000 1,400,000 A425,000
& elmet p= 900,000 900,000 0
NEHE2 FHIAY 900,000 900,000 0
403 XX SHHS K201 900,000 900,000 0
01 AR SHH 2L X 900,000 900,000 0
OXRENTZ HH|AIY 900,000,000 900,000
OrMEH TE2EH X4 75,000 500,000 A425,000
OIS OISHXI(PM) OHEEH 012 & X4 75,000 100,000 A25,000
401 AlEHIL 201 75,000 100,000 A25,000
01 Al&H] 75,000 100,000 A25,000
OIS OISERI(PM) HXIPS =4
75,000,000 75,000
HANSSEHE 3,600 3,600 0
WEH AREZ 3,600 3,600 0
WENNAD AIBEX 3,600 3,600 0
203 LR F=ZIY| 3,600 3,600 0
03 Al =AIH DAY 3,600 3,600 0
Oonszel dRFaY| 3,600,000 3,600
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PR3 - 2H-3H - H

* HRAY - BES

Off &H2h

ralE)
Ol ko

Hlw

Ol
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02
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Ao
0
=

28,280

28,280
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T

0 | 08
Sl
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28,280

28,280

40| M

x
A0

02

28,280

28,280

N
o

e

16,450

16,450

>

6,658,000&
9,792,000&

16,450
6,658
9,792

OO |O|O|O

16,450

8,230

8,230

8,230,000

8,230
8,230

8,230

3,600

3,600

3,600,000

3,600
3,600

3,600

22,193,412

29,144,002

26,950,590

22,193,412

29,144,002

26,950,590

9,116,000

9,251,000

A 135,000

701 J1Et2I A

9,116,000

9,251,000

A 135,000

OueloIEEs+

ORIEE2 PRME XH0I¢LE

S NY0IEEHS

4,844,500,000&

e XL LENS

1,560,000,000&

- ZOHRNIHE Kol EH

1,177,500,000&
Olo —

2
H
M
o

1,150,000, 0002
=

384,000,000

9,116,000

4,844,500

1,560,000

1,177,500

1,150,000

384,000

9,251,000

135,000

13,077,412

13,077,412

701 JIEtRIHISH

13,077,412

13,077,412

01 JIEtalAEE
OXNSHEII=

35,262,000

13,042, 150,000&

13,077,412

35,262

13,042,150

13,077,412




H & 0l & AHS B Ml A

PR3 ALNSARS
2 M HAZAD
g M AUHA =3EH 29 (Gt H2)
ARS) - A - FH - GI(S1H) - HRAY - BES Ol &t e Hlm=2
HAS 20 274,604,970 250,698, 151 23,906,819
= 12,106,155
Al 262,498,815
ANUHA =253 H 29 200,250,480 200,244,906 5,574
HA2SAIY HA 200,250,480 200,244,906 5,574
ES3H =8 14,850 6,100 8,750
201 Let2aY| 10,000 0 10,000
03 A2 HI 10,000 0 10,000
OZAIE23 izl 10,000,000 10,000
202 0| 1,250 2,500 A1,250
01 2oL 1,250 2,500 21,250
OBtAIE HIXIOHR (ZSHAIE2IE S)
1,250,000 1,250
203 R =] 3,600 3,600
03 AIHF=EH =AY 3,600 3,600
OAlUIHA E=SFH F& 3,600,000 3,600
=SEH HEXH 200,000,000 200,000,000 0
307 2Izto & 200,000,000 200,000,000
9 2rgAHELS 200,000,000 200,000,000
O=3ZH HEX2 200,000,000,000 200,000,000
AU A 2E2IX2AAE 29 146,330 139,506 6,824
201 Ler2aY| 146,330 139,506 6,824
01 At2teltl 2,200 800 1,400
OtA2S2IXNZAIAE HIRIE 4 =
g 2,200,000 2,200
R =23l 144,130 138,706 5,424
OHA2S2EXZAAE 38
3,960,000 3,960
OHAS2E2CIXAAILE W RX2
140,170,000& 140,170
HAZSHER A 9,300 9,300
201 Ler2aY| 9,300 9,300
01 At22tell 9,300 9,300
OHANMRARAS| slolts L EEE R0
S 4,300,000 4,300
OHAZMARS HN+E S
5,000,000 5,000
E3SM AUHASEH SIHZ AL S 80,000 0 80,000
207 AN 80,000 80,000
01 2=l 80,000 80,000
OZSSM AUHALH SHTA S
80,000,000 80,000
HAZ ALY §E3t 54,545,858 38,560,527 15,985,331
= 12,106,155




PR3 ALNSARS
2 M HAZE
g X HAEAMY 555 EER=E)
ARS) - A - FH - GI(S1H) - HRAY - BES Ol &t e Hlm=2
Al 42,439,703
HAS A XA 48,045,260 36,408,631 11,636,629
= 11,837,500
Al 36,207,760
HAGH WEE2XE 13,000,000 10,000,000 3,000,000
307 2I2+01H 13,000,000 10,000,000 3,000,000
09 2+LAE2ES 13,000,000 10,000,000 3,000,000
OHAH NWBEXZS(SSRZ - E9l)
13,000,000,000& 13,000,000
HA RIMEES XA 6,474,499 6,335,963 138,536
307 e12+0l1d 6,474,499 6,335,963 138,536
09 2+HHELS 6,474,499 6,335,963 138,536
OHlA RIMEERZ KA (AUHA, OFESH2A)
6,474,498,921& 6,474,499
MAHA S8 E 23,675,000 15,456,000 8,219,000
= 11,837,500
Al 11,837,500
402 2I2EXHE01H 23,675,000 15,456,000 8,219,000
= 11,837,500
Al 11,837,500
02 QIZHXHZ2 AL E (01X THE) 23,675,000 15,456,000 8,219,000
OMAHA TUEX 23,675,000,000& 23,675,000
= 11,837,500
Al 11,837,500
AlLHBIA ZE & AHIA B 89 90,000 70,000 20,000
207 AIHEH] 90,000 70,000 20,000
01 AR EHH| 90,000 70,000 20,000
OAILIHA BY & MBI I 89
90,000,000& 90,000
AUHA S8 EF 16,000 16,000
201 2Bt ] 16,000 16,000
01 AFR2telHl 16,000 16,000
OAlUHA =82l 82 28 S =8
16,000,000 16,000
HAEFE SZIHEAMS (HE) 3,167,551 2,840,168 327,383
403 MXITHHSAH=201H 3,167,551 2,840,168 327,383
02 SI12SUHEt A= X A E AL I 3,167,551 2,840,168 327,383
OHAsdE RA2d 3,167,551,000& 3,167,551
HARRE SZNEAG (RIH) 1,612,710 1,690,500 A177,790
403 MXISHHSI=01H 1,512,710 1,690,500 A177,790
01 XIS A=E £ 1,512,710 1,690,500 A177,790
OoHAsdd £X 1,512,710,000& 1,512,710
NLHESA delaae 109,500 0 109,500

_10_




A HENSHS
2 A HAXED
g X HAEAMY 555 EER=E)
RZ - RA - - S2(FH) - NIRAY - BLES Ol &beH gﬂg% Hns2
311 XS 0IRHAHE 109,500 109,500
04 NILTHSAO0IKratet 109,500 109,500
ORI M2 oIkt 109,500,000 109,500
A2LHY 2HE 213 U™ 6,500,598 2,151,8% 4,348,702
= 268,655
Al 6,231,943
D2UH9 GTHO 2 ZEHA RRH S HEX 4,813,080 2,151,8% 2,661,184
307 2I2t0|& 4,813,080 2,151,8% 2,661,184
09 2£AHEXS 4,813,080 2,151,8% 2,661,184
O22UH19 KT [ ZAHA RBH| S
WX 4,813,080,0002 4,813,080
ZE|2AI2H ZAHA E=x28 Y 895,518 0 89,518
= 268,655
Al 626,863
307 212t & 895,518 0 89%,518
= 268,655
Al 626,863
00 24LAEES 895,518 0 895,518
OSEI2AIIH ZY9HA S8 X
895,518,000 89,518
= 268,655
Al 626,863
ST S ZAHA L BERIPX EFT M 792,000 0 792,000
307 2I2t0I & 792,000 792,000
00 2LAAHLES 792,000 792,000
OsT S ZAHA L BERI2F S&T Y
& 792,000,000 792,000
N SHZH 84,699 48,811 35,888
J1=23HI (AN D) 84,699 48,811 35,883
S22 84,699 48,811 35,888
201 LBt A 28,110 28,658 N548
01 At22r21H| 28,110 28,658 N548
ORN2g+2YI 10,638,000 10,638
OJ|1=2d2 432 17,472,000 17,472
202 O4H| 14,870 15,353 N483
01 2104 14,870 15,353 N483
OJ1=2430] 14,870,0002 14,870
203 AR EZIH| 4,800 4,800
M ENSIAREAY] 4,800 4,800
ORNSIAR =AY 4,800,000& 4,800
405 KHAHE SH) 36,919 36,919
01 XML SEF SH 36,919 36,919
OB 7 36,720,000 36,720

_11_




Fs: AL NSRS
2 A BAEMY
& M dy¥=3Z EER=E)
5 2 - SIE|
ARE| - A - B - S2A(SH) - HISA - BAS ofl &ty e HIRSZ
||| Ozg+== 19,0008 199
Heas(AZE) 19,723,933 0 19,723,933
LIS HHXIE 19,723,933 0 19,723,933
tl==2cl=de 19,723,933 0 19,723,933
705 Ol==Eci=ae 19,723,933 0 19,723,933
01 Oil==2=ae 2,666,667 0 2,666,667
Ser2eDI3(E3M WEXH) o=
s 2,666,667,000 2,666,667
02 Oll===0lXtatet 9,557,266 0 9,557,266
Osg2elI2(E32H HEXE) o
Ol Xt 9,557,266,000 9,557,266
04 Al - SXISHE D= 0+== 01 ktat et 7,500,000 0 7,500,000
OXHEIIS(ESSN MEXH) o=
OI%t 7,500,000,000& 7,500,000

_12_




H & 0l & AHS B Ml A

PIEZ: HENSARS
£ M A2
g M SBAIMHIA =5 gy EER=E)
ARS) - A - FH - GI(S1H) - HRAY - BES Ol &t e Hlm=2
A2t 62,459,864 51,975,685 10,484,179
= 3,572,500
fas 500,000
pJ 8,806,000
Al 49,581,364
BIAIMHIA =5 et 62,360,429 51,921,663 10,438,766
= 3,572,500
= 500,000
pJ 8,806,000
Al 49,481,929
EHAIER D8 4 35,719,418 25,390,254 10,329, 164
= 3,572,500
fas 500,000
pJ 8,806,000
Al 22,840,918
SHAZH Jg =4 A& 27,700 27,700 0
201 fer= 3| 24,100 24,100
01 At 2|l 24,100 24,100
OSR4700 WEAEAHE S R
3,600,000 3,600
osdacliy IsHIEUE s 72
7,100,000& 7,100
OSAVSAEIH S HE 5,000,000& 5,000
OHAIEHARS 39 =&
8,400,000& 8,400
203 H2=&H] 3,600 3,600
03 A=A =] 3,600 3,600
OBAIEH D18 24 XY AIMYRFX
3,600,000 3,600
ZOHQISEAl RIS 30,169,218 20,834,554 9,284,664
pJ 8,806,000
Al 21,363,218
308 AtAIEMSOIE 30,169,218 20,884,554 9,284,664
pJ 8,806,000
Al 21,363,218
13 SI[2SOHe & EAS A 30,169,218 20,834,554 9,284,664
Ol SHAl X 30, 169,218,000& 30,169,218
pJ 8,806,000
Al 21,363,218
Sgusst 29 2,422,500 2,118,000 304,500
= 2,422,500
308 XIXIEME0IH 2,422,500 2,118,000 304,500
= 2,422,500
183 S| 2SS & AEAIE 2,422,500 2,118,000 304,500
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PR3 ALNSARS
£ AN Eﬁ”AITTJJ
g X HAIMHIA =5 g EER=E)
ARS) - A - FH - GI(S1H) - HRAY - BES Ol &t e Hlm=2
OSgusS+H 24 2,422,500,000& 2,422,500
= 2,422,500
SENSHH TU(HHASHAl AT 7Y) 1,840,000 1,056,000 784,000
= 920,000
Al 920,000
405 RHaks S| 1,840,000 1,056,000 784,000
= 920,000
Al 920,000
01 AL =S F = 1,840,000 1,066,000 784,000
OSEusS+t TS (JMASHAl AR
) 1,840,000,000& 1,840,000
= 920,000
Al 920,000
SgEuS+H TU(ZHASHA ==X HHFL) 460,000 384,000 76,000
= 230,000
Al 230,000
405 RHaks S| 460,000 384,000 76,000
= 230,000
Al 230,000
01 At =S F = 460,000 384,000 76,000
Sgusst T (ZHAUSHA =X
TR &) 460,000,000 460,000
= 230,000
Al 230,000
sSEE wsSAHlA MBA 800,000 800,000 0
fas 500,000
Al 300,000
403 MAISHHSXZ01N 800,000 800,000 0
= 500,000
Al 300,000
[IPAPNE=px PN 800,000 800,000 0
OsZEE WSAHA MSA
800,000,000 800,000
fas 500,000
Al 300,000
BAIZSAIE XS 26,641,011 26,531,409 109,602
== 2A HHX 2x5 X2 1,000,000 1,500,000 500,000
402 2I2EXHE01H 1,000,000 1,500,000 500,000
01 QIZtXH2 AL 2R (KM TH ) 1,000,000 1,500,000 500,000
O=% SAl HHX Ex= X
1,000,000,000& 1,000,000
SAI2=ZAI EE 22 169,896 139,245 30,651
308 AXIHSOIA 169,896 139,245 30,651
18 S| 2ASHUSHE S AAE ALY 169,89%6 139,245 30,651
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PR3 ALNSARS
£ M A2
g X HAIMHIA =5 g EER=E)
A3 - 2 - B - SA(BH) - MM - BES Off &bod %E%E" HwsZ
OHAI2=B AL &H 22/2Y
169,896,000 169,896
HRSEHA 28 100,000 70,000 30,000
201 ZBt=Ehl 100,000 70,000 30,000
01 AlR2telH] 100,000 70,000 30,000
OgREHA 29 100,000, 000& 100,000
BANSEHENE 8,800 8,800 0
201 B2l 4,000 4,000
01 AFR2telHl 4,000 4,000
OJQl & HOIEHAl H2 23 AR S
300,000 300
OAl 2L =S HF ME
1,000,000 1,000
OHAIZXARZ 22 = S
2,700,000& 2,700
202 04t 4,800 4,800
01 2LHAY] 4,800 4,800
OHAl 252N &8 £ 0l
4,800,000 4,800
BAl 2E5EAN =E 18,880 18,880 0
201 Let=Ehl 8,880 8,880 0
01 AlR2telHl 4,880 2,880 2,000
Ogs & 333 =8l S
4,830,000& 4,880
2 33234l 4,000 6,000 22,000
ogsxteg |50 & |RALI(EEE S)
4,000,000 4,000
301 LetENZ 10,000 10,000
14 JIEIE &= 10,000 10,000
OW XSt 2AE - ALl S &)
a3 10,000,000& 10,000
BAIZSAEL RItEES K& 15,000,000 15,000,000
307 eI2+old 15,000,000 15,000,000
0 2+LHELS 15,000,000 15,000,000
OHAI2SAET FIIE2E= XA
15,000,000,000& 15,000,000
BANSIHE ME =5 S XIH 7,326,000 5,800,000 1,526,000
307 e12+old 7,326,000 5,800,000 1,526,000
09 2s-AE2LS 7,326,000 5,800,000 1,526,000
OHARNSHE M8 =42 & XI¥
7,326,000,000& 7,326,000
AI2E ERAIOIE B2 MsE flgt 24l NE 650,000 1,100,000 450,000
307 2I2+01& 650,000 1,100,000 450,000
9 B-EAHE 650,000 1,100,000 450,000
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PR3 ALNSARS
= EiAI 2= 1t
g BIAINHIA =& S EER=E)
R3] - A - ZB - G(S) - HRAE - BYS Ol &t e Hlm=2
OAIZ! BHAI0I8 2 MBS <8t 2l K&
650,000,000 650,000
GENF HAAET SE2 XA 166,000 145,200 20,800
307 212+0I1H 166,000 145,200 20,800
09 2+ HELS 166,000 145,200 20,800
OSBNF HAIMNGER DEE2 SEE X
& 166,000,000 166,000
SAI2=SA 222 0F X 1,950,000 2,400,000 450,000
307 el2+old 1,950,000 2,400,000 450,000
09 2+LAE2LES 1,950,000 2,400,000 450,000
OHAIZ+BALL 2225 0F A&
1,950,000,000& 1,950,000
BIAl SIS 2elAAH 29 151,435 190,284 138,849
308 AXIHS0IA 151,435 190,284 138,849
18 SIS0t HAS A 151,435 190,284 138,849
OHAl 2dEE 2elAAE 22|
151,435,000& 151,435
BIASKH 2el9E 99,000 99,000 0
403 MXISHHSIH=01H 99,000 99,000
02 SIS0t =2 H A A 99,000 99,000
OHAlsXY X1 & |2 A
99,000,000 99,000
Al 3 & NMHIA B} 1,000 60,000 59,000
201 Zet=Ehl 1,000 0 1,000
01 At2teltl 1,000 0 1,000
O™ BIAIMHIA MZET NS AL
1,000,000 1,000
HMNSE2AHEH 49,160 24,8% 24,264
HANHAZSAIL IR 49,160 24,8% 24,264
U2 (HNHA S) 2ESEAM = 2,160 1,8% 264
202 04t 2,160 1,8% 264
01 A 2,160 1,8% 264
ONAB2+AM(BMHA S) N=BH S
2,160,000 2,160
HAHA 2EAE NG FILEES X 47,000 23,000 24,000
307 2I2+0IH 47,000 23,000 24,000
09 2+LAExS 47,000 23,000 24,000
OTAMHA 2EAME NG RIHEXRS
47,000,000& 47,000
Y=L 3H| 50,275 29,126 21,149
Jl=2ZHI(HAI2=11) 50,275 29,126 21,149
2A2EH| 50,275 29,126 21,149
201 ZBt=Eh] 30,557 18,108 12,449
01 Ar2teltl 30,557 18,108 12,449
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I3 AL NSFIA3
£ M A2
& M dy¥=3Z EER=E)
ARS) - A - FH - GI(S1H) - HRAY - BES Ol &t e Hlm=2
ENE2E-EH 21,839,000& 21,889
OJ|2ge2=8 =&l 8,668,000& 8,668
202 04l 12,518 7,418 5,100
01 =LH0d 12,518 7,418 5,100
OJl=gR==d 0| 12,518,000 12,518
203 HR=&H] 7,200 3,600 3,600
M EASHLRFAH 7,200 3,600 3,600
ORAM2EER=2] 4,200,000& 4,200
OHSZAIRAZY R
3,000,000 3,000
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H & 0l & AHS B Ml A

9|25 A DSAE
S N ESH
R AR QM BNO HEY E (o9 =)
SIRE) - R - B - S2A(3) - MPAY - HYS 0l &l e HID =2
E= 38,708,557 41,591,324 N2,882,767
Ag - oIE S49 2d 75 797,509 4,657,100 23,859,591
22X 189,409 3,662,000 A3,472,591
AAL OISEHIAIE HXl X (AHAIEA) 189,409 0 189,409
404 SAHSEHIEEES 189,409 0 189,409
01 SAt- S22 ES 189,409 0 189,409
OZAL OISEAAE &X| X3 (AUHAIFH)
189,409,000 189,409
SAEE A= =8 600,000 451,000 149,000
M2z eld SAIZE2A=HE = 600,000 301,000 299,000
207 ARl 600,000 300,000 300,000
01 H1E4H] 600,000 300,000 300,000
ON2xt o1@ SAEEYREN S +S
600,000,000& 600,000
B AHEXE 8,100 8,100 0
A4 XH 8,100 8,100 0
202 04| 4,500 4,500 0
01 2K 4,500 4,500 0
O 2 SAEEY &5 57
4,500,000 4,500
203 gR=&| 3,600 3,600 0
03 A=A R =NH] 3,600 3,600 0
OBE AL 3,600,000%! 3,600
HH 23 31,872 31,872 0
JlE2ZHI(EE) 31,872 31,872 0
fA2EH| 31,872 31,872 0
201 2= 19,152 19,152 0
01 At22t2lH] 19,182 19,182 0
ORN2g=3HI 11,856,000 11,85
OJ|2gf=8 S| 7,296,000& 7,296
202 04l 9,120 9,120
01 =LHOHI 9,120 9,120
OJ|2g =8 obl 9,120,000 9,120
203 =4l 3,600 3,600
04 PAE2EERFAH 3,600 3,600
ORMEEE =2 3,600,000& 3,600
Hees(E3xn) 37,879,176 36,902,352 976,824
WA XIE 37,879,176 36,902,352 976,824
JIEtIHEES 25,580,272 28,263,825 A\2,683,553
701 JIEtRI HSHES 25,580,272 28,263,825 A\2,683,553
01 JIEt=I AN ES 25,580,272 28,263,825 A2,683,553
OSANBEAL LT 2B X2
21,975,000,000& 21,975,000
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0

0x T d0

[
0
o
[0

ol &rey

dEc
Ofl xt ol

Hlw

Ol
N

3,605,272,000&

3,605,272

12,298,904

8,638,527

3,660,377

12,298,904

8,638,527

3,660,377

al

Jl]

6, 989,300,000

3,011,300,000&

1,913,035,000&
385,269,000

10,000,600

6,989,300

3,011,300
2,298,304

1,913,035
385,269

6,505,950

2,132,577

3,494,650

165,727
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SHAE S E A A

FEs: AL NSRS
£ M E21t
¥ oM cRY s (B9l &)
ARS| - A - HB - O9I(3]H) - MRAY - BES ofl v e RS2
C2u 232,070,689 193,879,711 38,190,978
= 100,000
= 38,850,000
Il 2,203,000
Al 136,327,689
H 54,590,000
Ced S 131,697,580 124,083,742 7,613,838
= 100,000
s 38,850,000
Al 39,757,580
H 52,990,000
=& N A4 11,345,000 12,705,742 1,360,742
= 8,665,000
Al 2,680,000
NN CBASH (ZA~E ) T2IHE S AL 2,022,000 12,200,000 210,178,000
s 1,022,000
Al 1,000,000
401 AIZHIZ SO 2,022,000 12,200,000 10,178,000
fas 1,022,000
Al 1,000,000
01 Al&H| 1,322,000 11,800,000 10,478,000
O3S AlbI 1,322,000,000& 1,322,000
o 922,000
Al 400,000
02 Zeld| 700,000 400,000 300,000
OZeltl 700,000,000 700,000
s 100,000
Al 600,000
IXNEBSH(CH0HE) S2IHESA 9,323,000 505,742 8,817,258
fas 7,643,000
Al 1,680,000
401 AIE2BIXL S THYI 9,323,000 505,742 8,817,258
ras 7,643,000
Al 1,680,000
01 Al&HI 9,032,000 500,000 8,532,000
OB AHI 9,032,000,000& 9,032,000
= 7,438,000
Al 1,594,000
02 Zeld| 285,000 0 285,000
OZcldl 285,000,000 285,000
fas 200,000
Al 85,000
03 AIESTHYI 6,000 5,742 258




A3 HENSA3
2 M E21
3 M T2 HE EEREE)
A3 - FA - ZFH - SA(BH) - MRAY - BES Off &H2h %-IIEPQ.E“ HwuEZ
OAIE=0tl 6,000,000 6,000
o 5,000
Al 1,000
e & JIEE2 AL 120,352,580 102,504,000 17,848,580
= 100,000
o 30,185,000
Al 37,077,580
H 52,990,000
LES SAUOIE~S=HZEZ =2 18,000,000 4,550,000 13,450,000
TH 18,000,000
401 Al HI L RO 18,000,000 4,550,000 13,450,000
H 18,000,000
01 AlZHI 17,000,000 4,000,000 13,000,000
O3 A 17,000, 000,000 17,000,000
H 17,000,000
02 2l 1,000,000 500,000 500,000
OZell 1,000,000,000& 1,000,000
H 1,000,000
oId M7 AF =~ =204 2,105,000 4,430,000 A2,325,000
P 2,100,000
Al 5,000
308 XXM SO0IA 2,100,000 3,430,000 1,330,000
s 2,100,000
07 HAHH 2R 52 2,100,000 3,430,000 1,330,000
OZ=ZAl B4 8=3
2,100,000,000& 2,100,000
P 2,100,000
401 AIZHIX 20HH 5,000 1,000,000 995,000
03 AIESTHYI 5,000 0 5,000
OAlIZ =08l 5,000,000& 5,000
AZ0S~HAD W2t =2HE 10,208,330 4,762,000 5,446,330
Al 8,330
H 10,200,000
401 AIEHIZL S0 10,208,330 4,762,000 5,446,330
Al 8,330
H 10,200,000
01 Al&H| 10,000,000 4,462,000 5,538,000
O3 Al 10,000,000,000& 10,000,000
H 10,000,000
02 el 200,000 280,000 80,000
OZell 200,000,000& 200,000
H 200,000
03 AIZSCHEI 8,330 20,000 A11,670
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fles: ALNER
2 M E21
3 M T2 HE EEREE)
RS - A - B - SA(S) - NSNS - BES ol ke e HImE2
| One=om) 8,330,00024 8,330
AZ-NE BB AL 30,085,000 25,000,000 5,085,000
z 25,085,000
Al 5,000,000
401 AIEHIZ 2 THE] 30,085,000 25,000,000 5,085,000
2 25,085,000
Al 5,000,000
01 Al 29,440,000 24,255,000 5,185,000
OZ A 29,440,000,000% 29,440,000
2 24,515,000
Al 4,925,000
02 221t 612,000 700,000 88,000
o2l 612,000, 0002 612,000
z 540,000
Al 72,000
03 AlZ=R0Hb| 33,000 45,000 A12,000
OAN&=THY| 33,000,002 33,000
2 30,000
Al 3,000
E2U2-2402 S2HLTA 14,510,000 14,510,000
401 AlEHI L2 OHH| 14,510,000 14,510,000
01 AlZHI 14,000,000 14,000,000
O A 10,000,000, 0002 10,000,000
OZAHI 4,000,000, 0002 4,000,000
o2 22l8| 500,000 0 500,000
o2l 500,000, 0002 500,000
03 Al CH8| 10,000 0 10,000
OAN&=THY| 10,000,000 10,000
OFAXIBIRIE A& ZAL 100,000 14,000,000 | 213,900,000
2 100,000
401 AlEHI L2 O] 100,000 14,000,000 £13,900,000
2 100,000
01 A&t 100,000 13,288,000 13,188,000
OZAHI 100,000, 0002 100,000
2 100,000
AT AHRSY 24 6,000,000 0 6,000,000
z 3,000,000
Al 3,000,000
401 AlEHI L2 ] 6,000,000 0 6,000,000
2 3,000,000
Al 3,000,000
01 Al 6,000,000 0 6,000,000




SIRE]: AEDNSAAS
2 AN E2u
3 M T2 HE EEREE)
5 2 5 S[E|
ARE| - A - B - S2A(SH) - HISA - BAS ofl &ty e HIRSZ
O= 4 6.000,000,0002 6,000,000
2 3,000,000
Al 3,000,000
SDE-URSL 2L 20,000,000 4,433,000 15,567,000
] 20,000,000
401 AlEHIZL S CHYI 20,000,000 4,433,000 15,567,000
) 20,000,000
01 Al&H] 20,000,000 4,183,000 15,817,000
2| 20,000,000,000 20,000,000
) 20,000,000
CaR-AgHRY T2 1,856,250 2,000,000 143,750
401 AlZHIZL 2 OHHI 1,856,250 2,000,000 143,750
01 Al&ZH] 1,800,000 2,000,000 200,000
OB Al 1,800,000,0002 1,800,000
02 22/l 56,250 0 56,250
oeltl 56,250,002 56,250
2.3 E2HEN 11,040,000 12,100,000 1,060,000
403 XIXISHHIS K201 11,040,000 12,100,000 A1,060,000
01 XIS A2EE 11,040,000 12,100,000 1,080,000
O(az)2enad (Mdely2-X4xD)
B2 HLBA 1,000,000,0002 1,000,000
O(Zat2)AR2565 6 TAHEER HEZ
N 400,000,000 400,000
O(BAZ)SEH JBAE(E2)HBAL(2
S135 ) 1,500,000,0002 1,500,000
O(EP)TRS LA T2HE A
1,500,000,0002 1,500,000
O(E7)ZAHSY L&l T2HLTA
230,000,0002 230,000
O(4P)AEZXT? TAHEE2(L355
o) HEBA 200,000,000 200,000
O(HS7)DTE 314X LA(L2-6546)
2L BA 260,000,000 260,000
O(4S?)S-INT 222546 T2HEBA
200,000,000 200,000
O(RERUZES 4222546 S2IHLBA
1,120,000,0002! 1,120,000
O(RBP)IWS 76/-181X LA T2HES
Ab 1,000,000,0002 1,000,000
OHLP)ELs A22-15546 T2HLEBA
1,000,000,0002 1,000,000
O(MT)IIEHE E22 S1-095d E2HLT
N 930,000,000 980,000
O(LS)48XR 22-1548 T2IHLBA
500,000,000 500,000
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LA HEWNSARZ
2 A E2
d M CRY ES (SH &)
LRS- A - FH - S2(3) - HIRAY - BHES Ofl &kl &-IIEQ.E" HlwnE2
O(gs3)8X7 A3-358 T2WEBA
1,200,000,000& 1,200,000
LSS AL SA 1,500,000 1,500,000
401 AIEHIYL 20HY 1,500,000 1,500,000
01 Al&HI 1,500,000 1,500,000
O& A 1,500,000,000& 1,500,000
SHAEIC-SUZ2E T2IHESAL 158,000 0 158,000
401 Al HILS0HY| 158,000 158,000
01 AlEHI 158,000 158,000
O& AL 158,000,000& 158,000
Srllz T2EEZA 4,790,000 0 4,790,000
Wi 4,790,000
401 A& HIZLS0HY| 4,790,000 0 4,790,000
H 4,790,000
01 AlEHI 4,790,000 0 4,790,000
OB 4| 4,790,000,000& 4,790,000
| 4,790,000
T2 Y| £ 2l 91,886,268 63,019,944 28,866,324
| 2,203,000
Al 89,683,268
2SS FHl 3,650,000 3,650,000 0
ZEtd NeEg T=24AYH FUIAY 950,000 950,000 0
403 REXISHHIS K201 & 950,000 950,000 0
01 XN AE2ER 950,000 950,000 0
OEd D58 T2XY FHIA(Z2 - F
B3X) 950,000,000& 950,000
SE2XGAIE FX2el 1,900,000 1,900,000
403 XIS HMSAHE0IA 1,900,000 1,900,000
01 X SHA=EER 1,900,000 1,900,000
OE2XYAIE XA - P EX)
1,500,000,000& 1,500,000
OCS2AYAIE FHAAE RSRAEH(2 - 7
2X) 400,000,000& 400,000
=52 2 9UoIA XS Hel D) 800,000 800,000 0
403 XX SHMSKHE01 ™ 800,000 800,000
01 IXISHHRE2EE 800,000 800,000
OLED 20ots WA 800,000,000 800,000
oINSt T 258 =4 13,911,004 8,576,040 5,334,964
| 883,000
Al 13,028,004
TZAIEE EH| 2,812,000 2,812,000
401 AlEHIZ 20| 2,812,000 2,812,000
01 Al&Hl 2,812,000 2,812,000
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A3 AL NS
2 M E21
3 M T2 FH € 22 (Gt H2)
ARS) - A - FH - GI(S1H) - HRAY - BES Ol &t e HIDS2
O2tU E2A42 FHl
2,812,000,000& 2,812,000
CE2EXE FHI 793,000 793,000
401 AlZHIL 2 CHY] 793,000 793,000
01 AlZHI 793,000 793,000
Ol S2HEXT FH] 793,000,000 793,000
CEHE RUE=> 281,100 281,100 0
206 MHZH 36,000 65,000 A29,000
01 MZHl 36,000 65,000 A29,000
Ogstzs & E224+M S 7Y
36,000,000 36,000
305 Bia=s 2,100 2,100
01 =S 2,100 2,100
Ozalitias S 2,100,000 2,100
401 AlZHIL S CHY] 243,000 214,000 29,000
01 AlZHI 243,000 214,000 29,000
ORI 2 243,000,000 243,000
2 & BN=SE A 3,000,000 2,165,000 835,000
401 AlZHIL 2] 3,000,000 2,165,000 835,000
01 Al 3,000,000 2,165,000 835,000
OzU 2 & EUES JHl SA
3,000,000,000& 3,000,000
o cEStoet 29 5,716 4,940 776
201 Let2 3| 5,716 4,940 776
2 s5=23Hl 5,716 4,940 776
O¢=10t =712t 28]
4,576,000 4,576
O=steeE ==53t01eh 28|
1,140,000 1,140
BHCtel =& HARLIEINE 2edE8d AR2HS2H(HE0C 883,000 0 883,000
SEs Ar)
Jl 883,000
401 AlZHIL 2] 883,000 0 883,000
2l 883,000
01 AlZHI 883,000 0 883,000
O£l & SAHl 883,000,000 883,000
) 883,000
SEUZ Z2OMSHel ZgAY BEEFHl SA 1,000,000 1,000,000
401 AlZHIL 2 CHY] 1,000,000 1,000,000
01 Al&HI 1,000,000 1,000,000
OS Al 1,000,000,000& 1,000,000
2ilin =X2cHlE 2= 3,356,188 3,356,188
308 XXM SOIA 3,356, 188 0 3,356,188
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I AENSARS
= CE
g C2 ZHl & 2el EER=E)
A3 - A - BH - SRA(SA) - NRAY - BES Off &bed %Eg‘% Hus2
07 AXESHLLES 3,3%,188 0 3,356, 188
OAcilin |X2ALHIS 2ES(AIEA)
3,356, 188,000 3,3%, 188
Al ZAH CHHEXIE &X 180,000 180,000
401 Al HIYL S CHYI 180,000 180,000
01 Al&HI 180,000 180,000
OAl ZA e EX 2 & X
180,000,000 180,000
- FUXFAYE X 1,400,000 1,400,000
308 XXM SOIA 1,400,000 1,400,000
07 X222 1,400,000 1,400,000
OF7 FUXIAM XA 2E2
1,400,000,000& 1,400,000
o & M 200,000 200,000
401 AlEHIYL 2 THYI 200,000 200,000
01 Al&HI 200,000 200,000
OsolilH 2l e 200,000,000& 200,000
2 A= L 22 N2 71,157,264 42,737,104 28,420,160
QITtHE2Y WE K& 18,553,000 16,855,000 1,698,000
406 JIEHAHZ0I A 8,324,000 8,154,000 170,000
01 JIEFH=201H 8,324,000 8,154,000 170,000
O'sd 2¥)|E sda=Y N 8,324,000
oM A E 3,316,000,000& 3,316,000
oQHEAHE 5,008,000,000& 5,008,000
501 &A= 10,229,000 8,701,000 1,528,000
01 Rt I= 10,229,000 8,701,000 1,528,000
O'23E AIF2SHI(HH3) 10,229,000
oM A E 5,097,000,000& 5,097,000
oQHEAHE 5,132,000,000& 5,132,000
BENECE Y oMU SHE XA (HE) 43,910,332 17,766,340 26,143,992
201 er2 3| 3,000 0 3,000
02 S3=4gl 3,000 0 3,000
OXHF0 SHZ X IESSALAE 3
S22 3,000,000 3,000
406 JIEF =01 43,907,332 17,766,340 26,140,992
01 JIEtA=01E 43,907,332 17,766,340 26,140,992
O0BE = XS0l Sz XA 21,361,662
oZENEEZ 9,562,392,820& 9,562,393
oQIE W 11,799,268, 121& 11,799,269
O024E =2 (1~3=201) XHF=FL SH= X2 22,545,670
oZBENEER 9,683,644,809& 9,683,645
oQIEW 12,862,024,225& 12,862,025
2L 2A2= 2 4,000 4,000 0




A3 AL NS
2 M E20
3 T2 3Hl & 22l (Gt H2)
ARS) - A - FH - GI(S1H) - HRAY - BES Ol &t e HIDS2
401 AlZHIL 2] 4,000 4,000
01 Al 4,000 4,000
OoHes &4 A& 4,000,000 4,000
Xot2E |A2el 279,032 269,604 9,428
201 Ler2 3| 279,032 269,604 9,428
2 ss=23Hl 279,032 269,604 9,428
OsEXotEE
132,592,000& 132,592
OSEAGEL
146,440,000& 146,440
C2HEE FuR=S 7,000,000 7,000,000
308 ARISHMSOIE 7,000,000 7,000,000
2 d+=uF3 7,000,000 7,000,000
Ocz¥ER L=
7,000,000,000& 7,000,000
E2HE L 22| ERF 62,900 62,160 740
201 e Y| 54,800 54,060 740
01 At 2teltl 48,200 49,060 A860
O=2HE & & 20,000,000 20,000
OMoll 23 Hla22A 2
5,000,000 5,000
ogge & Xx 10,000,000& 10,000
Okzael & &
13,200,000& 13,200
R =23l 6,600 5,000 1,600
OLz2nsgls
3,000,000 3,000
Okzaegl & dd4X
3,600,000 3,600
202 04t 4,500 4,500
01 2oL 4,500 4,500
0347 s g2 4,500,000 4,500
208 BF 2| 3,600 3,600
03 A=Y R =AY 3,600 3,600
O=2AHE € 22gR =&
3,600,000 3,600
SE5~Yot o2 HE MAUEELEIA EY 340,000 0 340,000
401 AlZHIL 2 CHY] 340,000 340,000
01 AlZHI 340,000 340,000
osgtl 340,000,000 340,000
HI3RE QIHZAA 22044 - | g9 700,000 0 700,000
401 AlZHIZ 2] 700,000 700,000
01 A2 700,000 700,000
o9l 700,000,000 700,000
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I3 AL NSFIA3
2 M EZ2u
g M &2 FH & 2 EEED
PR3 - BA - HH Sl - HISRAY - BHS Off &bed %E% Hus2
CIZHETHANY HAH 108,000 108,000
201 er23 | 108,000 108,000
01 At2teltl 108,000 108,000
OXAY A = 108,000,000 108,000
SN0 HE 222 X 200,000 200,000
207 ARl 200,000 200,000
01 H7ESHI 200,000 200,000
O X0 e
200,000,000& 200,000
duz XNsSs 3,168,000 7,656,800 A4,488,800
) 1,320,000
Al 1,848,000
] XS A 858,000 1,451,500 593,500
403 AHXIEHHIS A= 858,000 1,451,500 593,500
01 AXIEH A 22 858,000 1,451,500 593,500
Ode=z XSzt 858,000
oXACIGHH
375,000,000 375,000
OB MEY NSsAIA( 218)
483,000,000& 483,000
M7 XS3H A ( 2,310,000 6,205,300 A3,89%,300
2l 1,320,000
Al 990,000
403 AXIEMSA=01d 2,310,000 6,205,300 3,895,300
pJ 1,320,000
Al 990,000
01 AXIEHM A =L 2,310,000 6,205,300 A3,8%,300
OXHEFE KISEAL 2,310,000
oNExSE
1,190,000,000& 1,190,000
) 680,000
Al 510,000
oAHESE
525,000,000& 525,000
pJ 300,000
Al 225,000
oHEE S
595,000,000& 595,000
) 340,000
Al 255,000
2 A 2t 745,000 745,000 0
SRMEHER)Q 2tel 745,000 745,000 0
HEE EXION 720,000 720,000 0
201 LEH2 | 20,000 20,000 0
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LIE3: HENEARS
2 M B2
& SR 2 EER=E)
LIA3| - A - - H2((3) - HRAY - BES Oil &k %E&E" HwsZ
01 AtR22telt] 20,000 20,000 0
OZFEEI 2 A& =28
20,000,000& 20,000
305 HH& =SS 100,000 100,000
01 Hhaf=2 =S 100,000 100,000
OLIXI=EX fE0IS53
100,000,000& 100,000
401 AIEHIZL 28I 600,000 600,000
01 Al&HI 600,000 600,000
ONEE T2HQ EXHY(0IXNSEX &
AMCHAY) 600,000,000& 600,000
SRME St 25,000 25,000
201 LEH2 | 25,000 25,000 0
01 At 22|l 25,000 25,000 0
OXHZEH| 25,000,000& 25,000
HE2HZH| 54,600 54,600 0
Jl2dul(=21) 54,600 54,600 0
N2 54,600 54,600 0
201 22 28,800 28,800 0
01 ArR22teltl 28,800 28,800 0
OfAM2d+EH 14,970,000& 14,970
OJI2g R+ S| 13,830,000& 13,830
202 (4t 21,600 21,600
01 =04 bl 21,600 21,600
OJ|12gR2=+¢ 0l 21,600,000& 21,600
203 LR=&H| 4,200 4,200
M FA2HLRFEI 4,200 4,200
O=RAM2IYRFA 4,200,000& 4,200
HREs(ZE2D) 7,687,241 5,976,425 1,710,816
Al 6,087,241
T 1,600,000
LHEHH K= 5,658,841 5,976,425 A317,584
== Jcl=ata 5,658,841 5,976,425 A317,584
705 O~ RIS AE 5,658,841 5,976,425 A317,584
03 Al - EXIGHED | S0z 4E 4,870,000 5,195,425 A325,425
HHRIE2~F X722 T2IHE('10.08.31
J) 580,000,000& 580,000
ORHS~E02F T2 IHA(3XH)('11.01.31.)
640,000,000& 640,000
OQEANPA~UZATAIZE E2IHA('11.06.30.)
620,000,000 620,000
Os ANl XIBIRIE HESBAH'15.11.02.)
500,000,000& 500,000




A3 AENSARZZ
2 M E25
§ M YRES(E2) (S ® )
A3 - 2 - B - SA(BH) - MM - BES Off &bod %L‘ig‘% Hws2
O=Xcsasd(da~@) 244 (16.10.31.)
500,000,000 500,000
Ozxcdiz & At &:('16.10.31.)
500,000,000& 500,000
OsSZAtAHel XIGHRtE H-ZAH'17.03.08.)
1,530,000,0002 1,530,000
04 Al - EXIHIHL |20l 420/ Rrat 788,841 781,000 7,841
OALLFCR-QBX T2 TRIH (5824,
'10.08.31.) 23,902,000 23,902
ORES~Z1N2t T2 IHA (3R (64K, '11.0
1.31.) 35,974,000& 35,974
OIEM A~ ZAMEAIZE E20HE (629, '
1.06.30.) 39,500,000 39,500
OS2AHEl KIotitE HEBAHBAR, '15.1
0.31.) 99,355,000 99,355
O=XNcasd (Za~d@) 20 (50,
16.10.01.) 114,355,000 114,355
OAghz ¥ A0 &(5022, '16.10.01.)
114,355,000& 114,355
OS2AHel KotitE A-ZAH1532, '17.03.
08.) 361,400,000 361,400
BEX=E 2,028,400 0 2,028,400
Al 428,400
H 1,600,000
L3 Ol ktate 428,400 0 428,400
311 XS0l Ktk 428,400 428,400
04 XIZHSAO0l KHake 428,400 428,400
Otles AA0HIE~S=Z M2 S2IHE (10
09, '11.12.20.) 124,200,000 124,200
O 0Itn HHA(60AHA, '12.12.21.)
85,200,000 85,200
OZXE gisd (Za~H) S2IHE (1004,
'21.08.06.) 219,000,000& 219,000
s E=ate 1,600,000 0 1,600,000
H 1,600,000
601 X = =4 1,600,000 0 1,600,000
H 1,600,000
MU XgHseE e 1,600,000 0 1,600,000
ONES AOIOHIE-SRRAZ T2H&(']
1.12.20.) 1,000,000,000& 1,000,000
H 1,000,000
Ot THAA('12.12.21.)
600,000,000 600,000
H 600,000




H & 0l & AHS B Ml A

3 ALNS?3
AN WSEE2E 0
o A2 B4 3Hus 78 (SH9 H2)
ARS| - A - HB - O9I(3]H) - MRAY - BES ofl v e RS2
229 15,613,204 20,430,462 4,817,168
S 3,200,000
Al 12,413,204
o B4 Hus 7 13,729,204 18,572,434 A4,843,140
A 3,200,000
Al 10,529,204
ANEIRZE NSAHIA S 9,841,258 8,014,969 1,826,289
NSENSEEAAE 29 1,457,916 1,832,564 N\374,648
201 £er2aY| 1,451,076 1,084,724 416,352
2 =23l 1,451,076 1,034,724 416,352
O&852= & HAl 1,451,076
oITS & ASI| I3
810,276,000 810,276
oIS & AB)| See3
640,800,000 640,800
202 0| 3,240 3,240
01 2oL 3,240 3,240
OusSd=2+83Hl d8d 0|
3,240,000 3,240
203 R =] 3,600 3,600
03 A= H A 3,600 3,600
OnsdE BIS, &S Ra) |2 RFX
3,600,000 3,600
Ns8 RSHAH(ITS) Se2el 24 5,413,554 3,168,000 2,245,554
308 ARISHMSOIE 5,413,554 3,168,000 2,245,554
13 SI2ASH SN A AL 5,413,554 3,168,000 2,245,554
OXs8 wsSHMAUT) Ser2el 29 A
5,413,554,000& 5,413,564
HAZE2ALIANAH(BIS) 29 2,969,788 3,014,405 N44.617
201 Ler2aY| 2,934,588 2,964,230 N29,642
01 Ab2teltl 300,000 301,600 1,600
OBIS SEAEHLI] Stz N2
300,000,000 300,000
R =234l 2,634,588 2,662,630 128,042
OBAZE 2| ALY SN2 EA (I
= 21t) 1,232,370,000& 1,232,370
O=32= # HAl 1,322,218,000& 1,322,218
OAlZEHIS A 80,000,000 80,000
405 XHakF St 35,200 0 35,200
01 AL =S FH S 35,200 0 35,200
OBIS = 2ot il 35,200,000 35,200
WSOHNAIE 2F 2L 688,036 1,756,415 1,088,379
wSASAE 2l 688,036 606,500 81,536
201 £er2aY| 586,600 550,000 36,600
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A3 AL NS
F M WSEE2E 0
3 AL Y BHus 79 (SH9 H2)
ARS| - A - HB - O9I(3]H) - MRAY - BES ofl v e RS2
01 At 2teltl 1,600 0 1,600
OuStSHOUAIAE HEAT D=3t
Hietd EORId ¢ 1,600,000 1,600
2 ss=23Hl 585,000 550,000 35,000
OustsHA I=238 89
585,000,000 585,000
308 XXM SOIA 61,400 56,500 4,900
13 SII2ASH US4 XA ALY 61,400 56,500 4,900
OFQIBSDIAIE FSE 2480t
61,400,000 61,400
405 KHakF SH| 40,036 40,036
01 A= FH =8I 40,036 40,036
OFQLIZESDIBAE FHAFE =X+
40,036,000 40,036
WSASAIE FX2 3,200,000 3,200,000 0
ES 3,200,000
WSANSAE K2+ 3,200,000 3,200,000 0
e 3,200,000
401 AlZHIL 2] 3,200,000 3,200,000 0
ES 3,200,000
01 AlZHI 3,200,000 3,200,000 0
OustsAd EX & 2=
3,200,000,0002 3,200,000
ES 3,200,000
Y =S Y 134,000 108,028 25,972
JlZZHl(nSE22g) 134,000 108,028 25,972
A2 134,000 108,028 25,972
201 £er2aY| 116,700 90,211 26,489
01 At 2teltl 28,700 29,193 avitec!
OFAN=E+8Hl 11,700,000 11,700
OUSIE=Z N SENSFE 74
800,000& 800
OJl=g*R=+4 S 9,000,000 9,000
OgAH| 7,200,000 7,200
2 =23l 83,000 61,018 26,982
OUSIE=RZN dIIL=
88,000,000 88,000
202 Ot 13,100 13,617 AbB17
01 2LH0IH 13,100 13,617 AB17
OJl=g2=4 ol 13,100,000& 13,100
208 BF =2l 4,200 4,200
M FA2IERFA| 4,200 4,200
OFA2ILRFa| 4,200,000 4,200
Heas(uszgd=2ag) 1,750,000 1,750,000 0
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P2 HEWSFIHE
f AN WSEE2ZN
g3 M jREs(us¥E=E2g9) CHe &S
5 z = 5[5
S - M - FHH - SA(3H) - HIRAE - BEZ Off &bod a&% 1
R HeHXI B 1,750,000 1,750,000 0
IIEtSIHE SS (M EALY) 1,750,000 1,750,000 0
701 JIEtSIHSEHES 1,750,000 1,750,000 0
01 JIEtSI AN ES 1,750,000 1,750,000 0

O0gl0IE=+9Y 2H2E NS XA
(X0l 2EIZ) 1,750,000,000& 1,750,000
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LIRS AL NS
2 M Sol™
3 I FHA=2 g DA A4 (SH9 H2)
LIA3| - A - - H2((3) - HRAY - BES Oil &k %E&E" HwE2
WY MAE= NsZ2)M X2 97,500 60,000 37,500
308 RXIHMSOIH 97,500 60,000 37,500
01 XN ELS 97,500 60,000 37,500
OfYANAZ= NEI2I X (EF,
M=, a==2) 97,500,000& 97,500
SO A B BHALY 151,350 156,350 25,000
oIdsl gN A4S UERZA 24 151,350 156,350 25,000
201 2et23 ] 1,350 6,350 25,000
01 ArR2eltl 1,350 1,350 0
ORels M& ¢ HE 7Y
1,350,000& 1,350
308 REXISHMSOIH 150,000 150,000
13 S22 S0HEH B & X A A 150,000 150,000
ORMI53| 1= Mo 2r2Ee izl
150,000,000 150,000
SX9 g ¢ X 14,068,740 13,532,722 536,018
= 270,000
s 4,314,000
Al 9,484,740
d XY ws#Ho 58 12,750,240 13,632,722 AT82,482
= 270,000
s 3,435,000
Al 9,045,240
H2Ud 2 84,240 79,780 4,460
201 LEH2 | 84,240 73,680 10,560
02 Z324l 84,240 73,680 10,560
O AAIAE SAFIHLH(ADSL) MBS
18,000,000& 18,000
OCIHAILN ({2AA 2XE Z|AAE S
NSRS 36,240,000 36,240
O& X% =0 (M 2URIF 2elAIAE
SXEx 30,000,000& 30,000
oA 2 XA (XHA) 6,358,500 6,418,000 59,500
308 REXIHMSOIH 6,358,500 6,418,000 59,500
01 XN BAELS 6,358,500 6,418,000 259,500
OQIFAIRI (HHN 2 BX
5,544,000,000& 5,544,000
OEBIER (S 2 BX
650,000,000& 650,000
O WU 28 8=
20,000,000& 20,000
OZ &Y H3H MM 2& B2
144,500,000& 144,500
o XY =0 Ad 2 X2 (KA 750,000 1,105,442 A305,442
308 KXISHMSOIH 750,000 1,105,442 A305,442




QI35 ALDEFNS
£ M SolEd
8 H S=X9 1 & X2 (SH9 H2)
AR - SN - BB - GBI - HRAY - BAS of v e HImS2
01 XN B2 LS 750,000 1,105,442 N\355,442
O# X< =g oiAd 28 2X(XHA)
600,000,000& 600,000
O& Tof Z01 04 29 BE(TH)
150,000,000 150,000
& XY 8 o2Ad 2K (EX) 5,152,500 5,539,500 A387,000
o 3,435,000
Al 1,717,500
308 XXM SOIA 5,152,500 5,539,500 A387,000
s 3,435,000
Al 1,717,500
01 HRSHH B EES 5,152,500 5,539,500 A387,000
O& Xof =01 02 29 B
4,689,000,000& 4,689,000
o 3,126,000
Al 1,563,000
O# X< =0 &g 2 2X
463,500,000 463,500
s 309,000
Al 154,500
o X9 =0 e Z o280 XA 405,000 390,000 15,000
= 270,000
Al 135,000
308 AXIHSOIA 405,000 390,000 15,000
= 270,000
Al 135,000
01 HAHHBSEXRS 405,000 390,000 15,000
Od X9 0 dad+3 o258 X2
Ard 405,000,000 405,000
= 270,000
Al 135,000
8 XS MESESJ () 28 XA 1,318,500 0 1,318,500
o 879,000
Al 439,500
8 XY dE=F 22 NI 1,318,500 0 1,318,500
o 879,000
Al 439,500
308 AtXIEMSOIE 1,318,500 0 1,318,500
= 879,000
Al 439,500
01 AX N B2 LS 1,318,500 0 1,318,500
Od N9 d2EF 29 A
1,318,500,000& 1,318,500
s 879,000




I3 AL NSFAS
= Sof &zt
g E=X9g g & X2 (SH9 H2)
|RI5] - RA - B SR(3) - HRAY - BES Ofl by e HmS2
| Al 439,500
Ao & X3 67,731,250 50,322,473 17,408,777
= 35,000
= 55,759,000
Il 180,000
Al 11,757,250
S EX SN LA 38,842,875 38,050,000 792,875
s 34,539,000
Al 4,303,875
S-SR SNLAS (8XD) 25,618,500 30,491,125 N4,872,625
= 22,784,000
Al 2,834,500
403 TS =01 25,618,500 30,491,125 N4,872,625
= 22,784,000
Al 2,834,500
01 AR A =2 £ 25,618,500 30,491,125 N4,872,625
OS4SR AMLAI (LX)
25,618,500,000& 25,618,500
s 22,784,000
Al 2,834,500
SSRGS AS (BERS) 13,224,375 7,558,875 5,665,500
= 11,755,000
Al 1,469,375
403 THXIEMS =01 13,224,375 7,558,875 5,665,500
fas 11,755,000
Al 1,469,375
01 XIS A =2 13,224,375 7,558,875 5,665,500
OSaERN ML (BBXA)
13,224,375,000& 13,224,375
s 11,755,000
Al 1,469,375
g 2 83X9 X2 19,703,400 4,154,923 15,548,477
= 35,000
s 14,000,000
Il 180,000
Al 5,488,400
& 9E AMY(2ERY) 10,900 9,380 1,520
201 Ler23 | 3,500 4,500 21,000
01 At2t2ltl 3,500 4,500 1,000
O 23 Z2HE 2H Ubi+gZH|
2,500,000& 2,500
Oy &d TI2fds 28 =g
1,000,000 1,000
202 044l 3,200 4,880 1,680
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PIEZ: HENSARS
£ M SoiLE
g = 44219 gy € XA (SH9 H2)
ARS| - A - HB - O9I(3]H) - MRAY - BES ofl v e RS2
01 204l 3,200 4,880 21,680
O g8 Z2HE AR 8
3,200,000& 3,200
203 BR8] 4,200 4,200
03 A=A RFAIH| 4,200 4,200
Of ¢d 23 |12 YR
4,200,000& 4,200
& g Al 2X(F4Y) 40,000 70,000 /30,000
308 XtXIEMSO0IE 40,000 70,000 /30,000
01 HXSHH B EES 40,000 70,000 /30,000
OH2 & A A2 2
40,000,000& 40,000
& gE MY EX(E) 1,400,000 0 1,400,000
403 AXIEHMSA=0ld 1,400,000 1,400,000
01 A= 2L 1,400,000 1,400,000
OF2HT W HEAY 500,000,000& 500,000
OXEc geute dz2nsa =4
900,000,000 900,000
HEAXZAE 2 360,000 432,000 A72,000
308 XXM SOIA 360,000 432,000 A72,000
183 SV 2SS E & HAETAL 360,000 432,000 A72,000
OELEXAHE 23 360,000,000 360,000
o OIS PG A8 2= 2,635,000 1,958,400 676,600
s 2,170,000
Al 465,000
403 MM S =01 2,635,000 1,958,400 676,600
s 2,170,000
Al 465,000
01 XIS 222 2,635,000 1,958,400 676,600
O OIS PG AME 2=
2,635,000,000&4 2,635,000
s 2,170,000
Al 465,000
AKX MBI|BAIE(LPG) 7= 13,090,000 0 13,090,000
s 10,780,000
Al 2,310,000
403 TS IH=01A 13,090,000 0 13,090,000
= 10,780,000
Al 2,310,000
01 XIS X222 13,090,000 0 13,090,000
SZX A M2|BFAIE (LPG) 2=
13,090,000,000& 13,090,000
s 10,780,000
Al 2,310,000




I3 AL NSFAS
£ M SoiE
g 92X g € X2 (SH9 H2)
ARS| - A - HB - O9I(3]H) - MRAY - BES ofl v e RS2
Wz Eatel 2 =28 29 330,000 390,000 60,000
) 180,000
Al 150,000
308 AHXIEMSOIE 330,000 390,000 260,000
pJ 180,000
Al 150,000
01 AXHHNBHEES 330,000 390,000 260,000
Oz B3te 2 Hioted T2 2Y
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A3 - 2 - B - SA(BH) - MM - BES

Off &H2h

dEc
Ofl xt ol
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8,640,000

8,640

3,550

3,000

550

3,550,000

3,550
3,550

3,000

550

300,000

7,339,872

A7,039,872

300,000

7,339,872

A7,039,872

300,000

7,339,872

A7,039,872

300,000

7,339,872

A7,039,872

300,000,000&

300,000

300,000

7,339,872

A7,039,872
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& AL

Al A

20244 Olah Lerel AL WSR3
A3 AL NS
£ OM: ofEEn
8 M FE oA it =4 (Gt H2)
ARS) - A - FH - GI(S1H) - HRAY - BES Ol &t e Hlm=2
ofefetd ot 13,844,554 18,867,559 5,023,005
= 4,170,500
[ 567,000
7l 271,000
Al 8,836,054
ZE oI ot =4 9,984,719 14,114,404 A4,129,685
= 2,525,500
z 567,000
2l 271,000
Al 6,621,219
OIF HICEH A0 A 9,220,810 12,619,640 3,398,830
= 2,019,500
Fas 567,000
7l 271,000
Al 6,363,310
OIF AHICH MeJ] = 34,310 34,310 0
308 XXISHMSOIA 34,310 34,310
PAPNR=s FAE o= 1= 34,310 34,310
OstZM4 D] MelAgY ==
34,310,000 34,310
otdotT MefJ] HSAS (XX SHMBLEX) 7,200,000 7,342,000 142,000
= 1,872,000
Al 5,328,000
308 AXIHMSOIH 7,200,000 7,342,000 142,000
= 1,872,000
Al 5,328,000
01 MASHNBSExES 7,200,000 7,342,000 142,000
OstastT A0 A
7,200,000,000& 7,200,000
= 1,872,000
Al 5,328,000
otdot MefJ] HetAr (Eatd) 619,500 615,000 4,500
= 147,500
Al 472,000
201 Ler2aY| 378,500 448,000 69,500
= 90,120
Al 288,380
01 At2tell 33,070 35,180 A2,110
Og - =3yl 27,240,000 27,240
= 6,486
Al 20,754
Oonl=tl 2,590,000 2,590
= 617
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PR3 ALNSARS
£ M oz
g XM ZE oF 2t =4 (SH &)
AR - SN - BB - GBI - HRAY - BAS of v e HIREZ
Al 1,973
O=gHl 3,240,000& 3,240
= 772
Al 2,468
2 s3=234l 345,430 412,820 67,390
O8&82= € HA 85,430,000 85,430
= 20,340
Al 65,090
Oxte - &8l 260,000,000 260,000
= 61,905
Al 198,095
206 M=Hl 2,000 2,000 0
= 476
Al 1,524
01 M=Hl 2,000 2,000 0
OdieMe Il =HE Ot +&
2,000,000 2,000
= 476
Al 1,524
401 AIEHIL 20| 239,000 165,000 74,000
= 56,904
Al 182,096
01 Al&ZHI 239,000 165,000 74,000
Odfefetd et &I| =+l
224,000,000 224,000
= 53,333
Al 170,667
OdeMedl =H - Xel 84
15,000,000& 15,000
= 3,571
Al 11,429
=Y T LMD =AY 100,000 150,000 50,000
308 ARISHMSOIE 100,000 150,000 50,000
01 MRS BLExS 100,000 150,000 50,000
OZXg S AAMD] =0HAY
100,000,000 100,000
oM HEHANY 850,500 945,000 A9A,500
= 567,000
Al 283,500
308 AMXIMSOIA 850,500 945,000 A94,500
Fas 567,000
Al 283,500
01 AXHH B EES 850,500 945,000 A%A,500
Ot M| FstAt 850,500,000 850,500
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P HAENSA3
£ A oferEtd it
g XM ZE oF 2t =4 (SH &)
AR - SN - BB - GBI - HRAY - BAS of v e HImS2
s 567,000
Al 283,500
Fofoiet HIlE tHE At 406,500 0 406,500
Il 271,000
Al 135,500
308 AHAIEMSOIE 406,500 0 406,500
Il 271,000
Al 135,500
01 HAHHBSEXRS 406,500 0 406,500
OFlossiet HIIS te A
406,500,000 406,500
) 271,000
Al 135,500
ofgetddstd 883 22 &1 wAH 10,000 10,000
201 Ler23 | 2,500 2,500
01 At2teltl 2,500 2,500
Odigetddatd 485 22 F0 WAl
2,500,000 2,500
405 AtatE = 7,500 7,500
01 TR =S FSHI 7,500 7,500
Oofigetddstd 483 22 F10 WA
7,500,000 7,500
OHFAUEHH 28 2l 763,909 1,494,764 AT730,855
= 506,000
Al 257,909
HeESPABC | (BHEE) 7,286 152,999 A145,713
= 6,000
Al 1,286
308 AHAIEMSOIE 7,286 162,999 A145,713
= 6,000
Al 1,286
01 AXEH B EES 7,286 152,999 A145,713
Ol 2SS 2elAte 7,286,000 7,286
= 6,000
Al 1,286
FolicHLM=E MH & 2H2IALS 607,143 607,143 0
= 500,000
Al 107,143
308 AXIHMSOIA 607,143 607,143 0
= 500,000
Al 107,143
01 HASHHBSEXS 607,143 607,143 0
OFoll o= MH = /A
607,143,000 607,143
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0 4 H0

o
0
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Off &H2h

S[El
0l &y

Hlw

Ol
N

56,170,000

5,904,000&

20,000,000

1,750,000

56,170
5,904

5,904
21,750

20,000

1,750

5,184

26,000

720

N4, 250

14,157

14,200

A3

14,157,000

14,157
14,157

14,200

N3

21,126

22,000

N\B74

9,720,000&
1,776,000

9,630,000&

21,126

9,720
1,776

9,630

22,000

AB74

39,600

40,000

A400

36,000,000

3,600,000

36,000

36,000
3,600
3,600

36,000

4,000

2400

100,000

200,000

100,000

100,000,000

100,000

100,000

200,000

100,000

H

Al

375,358
100,000
275,358

350,000

25,358

H

Al

375,358
100,000
275,358

350,000

25,358

375,358,000

H

Al

375,358
375,358
100,000
275,358

350,000

25,358

880,000

220,000

660,000

880,000

220,000

660,000

880,000,000&

880,000
880,000

220,000

660,000
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PIE: AL NERIA
£ M: oi¥EZ
8 I ofegerd olme = (Gt H2)
LRS- A - FH - S2(3) - HIRAY - BHES Ofl &kl %Eg‘% Hns2
MEJRHZAIS 0|8t = 2,317,500 2,797,500 480,000
= 1,545,000
Al 772,500
MEFZZXS XE 2 |4 67,500 67,500 0
=) 45,000
Al 22,500
308 XIXISHHISOIE 67,500 67,500 0
= 45,000
Al 22,500
01 MXSHHBAEXRS 67,500 67,500 0
OMENZ2XS K& L |4
67,500,000 67,500
= 45,000
Al 22,500
MEfAZTE AL =4 2,250,000 2,730,000 480,000
= 1,500,000
Al 750,000
403 XSS K=01™ 2,250,000 2,730,000 480,000
= 1,500,000
Al 750,000
01 RMXISHHIX2E X 2,250,000 2,730,000 480,000
OHME2ZNEAE =
2,250,000,0002 2,250,000
= 1,500,000
Al 750,000
Y 2HAH| (o) 28,270 28,271 N
o2l (shetE ) 28,270 28,271 A
22| 28,270 28,271 N
201 LEt29Y| 14,830 14,831 A1
01 Al22t2|H] 14,830 14,831 N
OAtR2teldl 14,830,000 14,830
202 04| 9,840 9,840
01 204t 9,840 9,840
O=U0dd] 9,840,000 9,840
203 YR =ZY| 3,600 3,600
M EA2IEH2FA| 3,600 3,600
ORA2ILRF&I 3,600,000& 3,600
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H & 0l & AHS B Ml A

Fs: AL NSRS
2N 4D
oM R U (9l &2)
ARS| - A - HB - O9I(3]H) - MRAY - BES ofl v e HDS2
=4t 41,380,127 49,330,116 AT,949,989
= 1,297,572
= 15,000,575
Al 25,021,980
gy 23 35,531,556 43,499,863 AT,968,307
= 848,202
s 15,060,575
Al 19,622,779
og elZet 25 26,154,952 31,906,644 Ab,751,692
o 15,060,575
Al 11,004,377
OHE=E 300AH (20228 &) 16,201,401 11,903,004 4,298,307
o 13,342,042
Al 2,859,359
403 MR HHMSAHE01H 16,201,401 11,903,094 4,298,307
ras 13,342,042
Al 2,859,359
01 MHXIHHA 222 16,201,401 11,903,004 4,298,307
O0EFE 300AIH (20224 & F)
16,201,401,000& 16,201,401
= 13,342,042
Al 2,859,359
HELMESHASTALY (20238 &F) 2,086,791 0 2,086,791
fas 1,718,533
Al 368,258
403 MXITHHS 201N 2,086,791 0 2,086,791
o 1,718,533
Al 368,258
01 AXISHA=2 22X 2,086,791 0 2,086,791
OUENSHASTAIG (20234 & F)
2,086,791,000& 2,086,791
= 1,718,533
Al 368,258
XXt Zel(Xe) ogdd(He-XJ) (HEA) 4,600,000 6,500,000 1,900,000
403 MR SHHMSAH=01H 4,600,000 6,500,000 1,900,000
01 A= 2L 4,600,000 6,500,000 21,900,000
OXlgolg AL (Me-R1&)
4,600,000,000& 4,600,000
SEIs RERAE EX(HE-XE)(HEAY) 690,000 630,000 60,000
403 MRS AE01H 690,000 630,000 60,000
01 RXIEMA 22 £ 690,000 630,000 60,000
O=gDIs BHUAIL(HE-XIE)
540,000,000 540,000
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A3 AL NS
£ OM: bt
3 I olggdyy g (Gt H2)
ARS) - A - FH - GI(S1H) - HRAY - BES Ol &t e Hlm=2
OXrg - el 304,475,0002 304,475
401 AlZHIL 2 CHY] 350,000 100,000 250,000
01 Al&HI 350,000 100,000 250,000
ORI eldl(d8fBA & == 2]
Bl) 350,000,000 350,000
ORI Hex=a 9,976 8,676 1,300
201 Let2aY| 1,300 0 1,300
01 At 2teltl 1,300 0 1,300
O&XtogdIIE 7 1,300,000 1,300
202 O] 8,676 8,676
01 2oL 8,676 8,676
O=-0g NS 2 HB0Y §SUH
o =g 8,676,000 8,676
AE0A 1) EX(ME-XI2)(HEtAr) 200,000 180,000 20,000
403 MRS A=01H 200,000 180,000 20,000
01 RIXISHMIA 22 2 200,000 180,000 20,000
OAEH )| EX(EATE)
200,000,000 200,000
s M= X3 800,000 1,000,000 200,000
308 XXM SOl 800,000 1,000,000 200,000
01 IXHMBdE2x= 800,000 1,000,000 £200,000
Oogs HAR A& 800,000,000 800,000
OHEXEs 28 X 4,200,000 6,400,000 2,200,000
308 XM SOIH 2,000,000 2,400,000 400,000
01 MXHMBdEx= 2,000,000 2,400,000 400,000
ONgR=H 29 X (2)
2,000,000,000& 2,000,000
403 NXISHHMSA=201& 2,200,000 4,000,000 1,800,000
01 XIXISHMA 22X 2,200,000 4,000,000 1,800,000
ORI tHMAZE 2,000,000,000& 2,000,000
O UMAx A8 XA
200,000,000 200,000
3ellel XI#Ar 100,000 100,000
403 MXITHHS 201N 100,000 100,000
01 XXM A= E X 100,000 100,000
O22g el EX(F0i0at, 24 BHAI)
100,000,000& 100,000
FZoHS =0 oHA 600,000 600,000
403 NXIHHMS A =201& 600,000 600,000
01 XEXISHMA2 22 600,000 600,000
OFZaHS 2H0A W
600,000,000 600,000
OH+=25=H a2l 162,000 0 162,000
= 108,000
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I3 AL NSFIA3
FOM o
g M HgZHE LEt EER=E)
ARS) - A - FH - GI(S1H) - HRAY - BES Ol &t e Hlm=2
Al 54,000
308 XXM SOIA 162,000 0 162,000
= 108,000
Al 54,000
01 XN B EES 162,000 0 162,000
ONTESSH 222l
162,000,000 162,000
= 108,000
Al 54,000
ogel sdA =8 483,572 776,667 £293,09%
= 334,882
Al 148,690
HESSXJHE XY 22 225,000 500,000 A275,000
= 112,500
Al 112,500
308 XXM SOIA 225,000 500,000 A275,000
= 112,500
Al 112,500
13 SI12S0He 4 A AS A 225,000 500,000 A275,000
ONESsXZEH X8 23
225,000,000& 225,000
= 112,500
Al 112,500
HEMEDS AREHEXRE 108,572 126,667 18,095
= 72,382
Al 36,190
308 XXM SOIA 108,572 126,667 18,095
= 72,382
Al 36,190
01 XN B EES 108,572 126,667 18,095
ONEME DS MREHEXRZ
108,572,000 108,572
= 72,382
Al 36,190
SMADNEL S} 150,000 150,000 0
= 150,000
308 XtXIEMSO0IE 150,000 150,000 0
= 150,000
08 w=I|2A0CHe 2 & 150,000 150,000 0
O=4HDNEAS 150,000,000 150,000
= 150,000
=i RSY 2835 898,951 1,536,5% A\B37,645
= 100,000
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I3 AL NSFIA3
FOM o
g M HgZHE LEt EER=E)
ARS) - A - FH - GI(S1H) - HRAY - BES Ol &t e Hlm=2
Al 798,951
SOE AAEO X 150,000 0 150,000
= 100,000
Al 50,000
308 XXM SOIA 150,000 0 150,000
= 100,000
Al 50,000
01 RSN EES 150,000 0 150,000
O==ttE ddgel X2 150,000, 0002 150,000
= 100,000
Al 50,000
=02 RE IIBAE X 319,700 397,700 78,000
403 MR HHMSAHE01H 319,700 397,700 78,000
01 MHXIHHA 22 319,700 397,700 78,000
O=tt= ds - AL X3
319,700,000 319,700
SME RS B - X 245} 10,000 10,000
307 2Itold 10,000 10,000
02 LB HANHEE 10,000 10,000
O==tt2 dAlel & =Ea ZIHKIEA
10,000,000& 10,000
=2 RS BN - SR 416,500 621,500 205,000
308 AXIHSOIA 416,500 621,500 205,000
01 XN BSELES 416,500 621,500 205,000
O=tt=2 BHEI| M
216,500,000& 216,500
O=ttE2 NESIINE 30,000,000& 30,000
O=x=¢tts SHUS =&
50,000,000& 50,000
O=tt2 RS=FHl N2
120,000, 000& 120,000
MRS gRFA 2,751 2,746 5
202 04l 2,751 2,746
01 =LH0i 2,751 2,746
O=ttE RS gdst gRFL
2,751,000& 2,751
AR 2t 5,780,088 5,762,243 17,845
= 449,370
Al 5,330,718
SIS 5,186,933 4,908,133 278,800
= 363,000
Al 4,823,933
QIZHEAIL (NME-AE) (HEALY) 1,934,000 2,163,000 229,000
308 XXM SOIA 290,000 325,000 135,000




PR3 ALNSARS
£ OMD =t
g A S 2l EER=E)
ARS) - A - FH - GI(S1H) - HRAY - BES Ol &t e Hlm=2
18 SO 2SS 4N AE AR 290,000 325,000 35,000
Oz=oEe(ME-2E)
290,000,000 290,000
401 AIEHIL 20t 1,644,000 1,838,000 194,000
01 Al&HI 1,640,000 1,834,000 194,000
OQIBUHZAILZ(HE-AE)
1,640,000,000& 1,640,000
03 AIZ=CHYI 4,000 4,000 0
OIS0 ZAIL (HE-HE)
4,000,000 4,000
FMET 2L (DM E-XJ) (HEAY) 1,800,000 1,800,000 0
308 ARISM SOOI 1,800,000 1,800,000
01 MASNBSEES 1,800,000 1,800,000
O==4EX L= (HE-X1H)
1,800,000,000& 1,800,000
OB YR SUEAH(EE-AE)(HEALY) 200,000 169,000 31,000
308 XXM SOIA 200,000 169,000 31,000
3 S| 2SO HetB &M AS A I 200,000 169,000 31,000
Ox=4EX HYYF SUEA(HE-HE)
200,000,000 200,000
2EE AANLSH(014+2 e X)) 63,000 70,000 A7,000
= 63,000
403 MXISHHSK=01H 63,000 70,000 A7,000
= 63,000
01 AXIEHHA 22 % 63,000 70,000 A7,000
Ozled gA0gs4 (0142 ts NH)
63,000,000& 63,000
= 63,000
2AT e UNEZ 350,000 0 350,000
= 300,000
Al 50,000
403 MXISHHSI=01H 350,000 0 350,000
= 300,000
Al 50,000
01 RXIEHMIAt 2 2 2 350,000 0 350,000
OAlE Fetd iUXI2S (Lo EHE
) 350,000, 000& 350,000
= 300,000
Al 50,000
SO (FR01) At - MAE 24 150,000 150,000
403 MXISHHMS 201N 150,000 150,000
01 AXIEHA 22 % 150,000 150,000
OFATH (FR0]) &gt - A 2E (S0t
ZEA) 150,000, 000& 150,000
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PR3 ALNSARS
£ OA: bt
g oA 2k EER=E)
ARS) - A - FH - GI(S1H) - HRAY - BES Ol &t e Hlm=2
HiCls =&AHY 18,800 18,800
403 KXIHI S 18,800 18,800
01 AbXI A A 18,800 18,800
Ottt ZEAIL(RIIET AL
18,800,000& 18,800
SR SEAE 358,000 358,000
308 XXM S 208,000 208,000
01 MAESHBEx= 208,000 208,000
O=sH &2 X3 168,000,000 168,000
O=d g4dxiclAl X 40,000,000& 40,000
403 XM S & 150,000 150,000
01 REXIEHRIAL2 150,000 150,000
Oalold MAXI(2E2D1) =
150,000,000& 150,000
Y=z JHe X 250,000 150,000 100,000
403 MRS 250,000 150,000 100,000
01 REXISHMI A 250,000 150,000 100,000
ooEay=z N 250,000,000 250,000
S0E(R0H) X 60,000 45,000 15,000
308 AXISHSE 60,000 45,000 15,000
01 ARISHE & 60,000 45,000 15,000
OMEAHE (SO 60,000,000 60,000
A YR 3,133 3,133 0
202 04l 3,133 3,133
01 A 3,133 3,133
Ox=USAAMAY S g2FT
3,133,000 3,133
Kot E el 593, 155 854,110 A260,955
= 86,370
Al 506,785
20T FeHHE 435,000 540,000 105,000
08 NXISHMSE 435,000 540,000 105,000
01 XXM E 435,000 540,000 105,000
oA F3
435,000,000 435,000
Fold2(%) Xl 74,100 74,100 0
= 57,000
Al 17,100
308 AHAIEHHISOI 74,100 74,100 0
= 57,000
Al 17,100
01 AXISME & 74,100 74,100 0
Osafld=(s) 2l 74,100,000 74,100
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PR3 ALNSARS
£ OMD =t
g A S 2l ESR=ED
RS - A - FB - SRA(S) - HRAY - BES Ol ko e HIRE
= 57,000
Al 17,100
EJtAl2l A 40,000 40,000
308 AXIMSOIA 40,000 40,000
01 MASNBSEES 40,000 40,000
O=JtAtel 7Al 40,000,000 40,000
os2H BsX4 44,055 0 44,055
= 29,370
Al 14,685
308 ARISHMSOIE 44,055 0 44,055
= 29,370
Al 14,685
01 MASHBLExS 44,055 0 44,055
OQE=RHE 22X 44,055,000 44,095
= 29,370
Al 14,685
Y =S 3 68,483 68,010 473
Qle2AHH| (=40 23,493 23,014 479
el 2| 23,493 23,014 479
101 el 23,493 23,014 479
01 B 23,493 23,014 479
ORd22 =g((Xzdd) 23,493
ol g6g 100,726 x4 »362 14,505
o 90,9852« 1836 3,276
o 88s 81,6858 x 1 »36 2,941
od89g 76,9608 x 1 »36 2,771
Jl=2ZHI (=4t 44,990 44,9% YaX;)
X238 44,990 44,9%6 N6
201 Zet=E] 27,400 27,404 pav!
01 Al2teldl 27,400 27,404 Jav:!
OFAEE+SY 17,990,000 17,990
OJlzge-4d Sl 9,410,000 9,410
202 Ot 12,790 12,792 N2
01 2LHOY] 12,790 12,792 N2
OJl2g 8 0yl 12,790,000& 12,790
203 R =2IY| 4,800 4,800
M EA2ER=AH 4,800 4,800
ORNEgeE =AY 4,800,000 4,800




20243 =0k LBt

H & 0l & AHS B Ml A

fou

[ AE WSS

10
fon

HE: ALDEFIAS
2 A ZAHED
oM DRHNER SANE =3 (el mel)
ARS| - A - HB - O9I(3]H) - MRAY - BES ofl v e HDS2
A= 5,789,790 3,568,229 2,221,561
= 4,867,000
Al 922,790
DISHKISFE TAIHE S 5,739,800 3,513,600 2,226,200
2 4,867,000
Al 872,800
SANE 27 el 872,800 1,479,600 606,800
SAHE 2 HER =7 192,800 179,600 13,200
201 Ust2 Y| 148,400 148,400 0
01 AR 22lt| 148,400 148,400 0
O AHEZE, CAASDESRE 2
ag 60,000, 0002 60,000
OZAIHEAS 21 K01 S
59,600, 0002 59,600
OSANE HEE M 8,800,002 8,800
OZAIFBeILs ol X2 20,000, 0002 20,000
203 R EZIY| 13,600 13,600
RPNEESSISEET 13,600 13,600
OZAMEo S 82 4,200,002 4,200
OZAHEAIY 57 9,400, 0002/ 9,400
308 KX SHAISOI 30,800 17,600 13,200
13 B2 S0ICHe! 2 A E RIS AL 30,800 17,600 13,200
OZAlZ2INE B02 S
30,800, 0002 30,800
CTAIHE BFE IIEEA B 80,000 0 80,000
207 1P| 80,000 80,000
EEEET 80,000 80,000
OJl=He BUBLEHY S
80,000, 0002 80,000
N7 BYXS XTSI +2 8 250,000 0 250,000
207 1PN 250,000 250,000
01 eiR g 250,000 250,000
OXRHSINE, HAHAYHLIL, DEY
ST S 250,000, 0002 250,000
N7 O - NYE g2 1I7S9E 22 89 200,000 0 200,000
207 S| 200,000 200,000
R 200,000 200,000
OXRCSINE, H2AHLYHBIL, DSY
SEIL S 200,000, 0002 200,000
SANEIRE SHBANLAY PE BY 160,000 150,000
207 1P| 160,000 150,000
02 TR Y| 150,000 150,000
OZAHERE SBR2IANAY 25
150,000,002 150,000
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RS AL DEAAI
S A SAED
RN E SN B SS (crol:m2)
ARS| - A - HB - O9I(3]H) - MRAY - BES ofl v e HDS2
DL M Bt 22 4,867,000 2,084,000 2,833,000
2 4,867,000
HZ MBS 22| (HE) 5,760 5,09 664
z 5,760
201 Ler2H| 2,560 2,216 344
2 2,560
o1 A2l 2,560 2,216 344
OMgRsT 22| S|
2,560,0002! 2,560
2 2,560
202 01t 3,200 2,830 320
2 3,200
NENGE 3,200 2,830 320
OMZRS T 22| SHOIH|
3,200,0002! 3,200
2 3,200
HZHE RS 22| (X)) 30,240 40,94 1,664
2 30,240
308 XXIEHHI SOl 30,240 40,94 1,664
2 30,240
B EEEREES 30,240 40,94 1,664
OMZR ST 22l 39,240,002 30,240
2 30,240
HZ RS FLUXSAL 4,822,000 1,988,000 2,834,000
2 4,822,000
403 RIXIEHR SXH20IH 4,822,000 1,988,000 2,834,000
2 4,822,000
Ol XIXISH =2 E 4,822,000 1,988,000 2,834,000
OMLR ST FOIXIHAH]
4,822,000,0002 4,822,000
2 4,822,000
EEEEEE 49,990 54,629 74,639
EETICEERD) 49,990 54,629 74,630
= N2 49,990 54,629 74,630
201 Ler2t] 20,470 22,943 22,473
o1 A2l 20,470 22,943 £2,473
SER=E=t 6,630, 0002! 6,630
OJlzge4+s 3 13,840, 0002 13,840
202 01t 17,880 20,046 2,166
o1 =LHolt 17,880 20,046 £2,165
OJlzge48 o 17,880, 0002 17,880
208 2P ETH] 11,640 11,640
NEEE=TSEESSE 6,600 6,600
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H & 0l & AHS B Ml A

M XS 28 SAE A% FEE DAl (SH &)
3| - 2N - B - 2(Z]) - HRAY - BES Oil &k &-:LSFQ.E" HwE2
ni 435,700 39,167 396,533
2 TS I IEE TAlEL 409,800 12,000 397,800
2 HE =8 - ZH 409,800 12,000 397,800
SAIZelHE 2E MEHER A 9,800 12,000 N2,200
202 04| 1,800 1,800 0
01 2ol 1,800 1,800 0
OXIRH2HE L TAHEAL 23 4P
= SHOYI 1,800,000& 1,800
203 gR=&| 3,600 3,600
03 A=A L2 FAIH| 3,600 3,600
OXIRH2HE L TAHEAL 2 A2
= 3,600,000& 3,600
308 RIXIEME0IH 4,400 6,600 N2,200
13 SO 2SO Z A X AET AL 4,400 6,600 A2,200
OZAIZeIHE(XIRERHE, TAAHEAL
) &ot Bh= 4,400,000& 4,400
QIFMAl XIRSHRANAE () HH 4 400,000 0 400,000
207 AR 400,000 400,000
01 2 E A 400,000 400,000
OQEAl XIREt2H& () HHl 84
400,000,000& 400,000
HH 23 25,900 27,167 N1,267
Ul (T Al2el ) 25,900 27,167 N1,267
N2l 25,900 27,167 N1,267
201 Lt 14,860 15,708 A\848
01 AtR2telbl 14,860 15,708 1848
EA2E=24] 9,460,000& 9,460
OJl=gRsd S| 5,400,000& 5,400
202 04l 7,440 7,859 2419
01 204l 7,440 7,859 A419
OJlzgR==8 od 7,440,000& 7,440
203 FRF=4| 3,600 3,600
04 RA2ILRFE 3,600 3,600
ORN2IHRFLH 3,600,000& 3,600
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H & 0l & AHS B Ml A

024 20ilat LB AL NSRS
A AL NS
2 OMT SADHZ D
8 3 dIIE2 TANEE =4 (Gt H2)
ARS) - A - FH - GI(S1H) - HRAY - BES Ol &t e Hlm=2
NP 11,943,977 12,080, 148 ~86,171
Al 10,483,977
H 1,460,000
AIIEE TAEE X4 10,000 0 10,000
JIBFAI AL X 10,000 0 10,000
JIENEREs 1T s 10,000 0 10,000
308 ARISHMSOIE 10,000 0 10,000
2 d+uFa 10,000 0 10,000
OJIBNEREa d+17F3
10,000,000 10,000
LMAC SADNY FA 1,841,419 3,497,441 A1,666,022
SH+E2 H=SEAl =4 1,841,419 3,497,441 1,656,022
SHAE A=A 1,833,310 3,189,332 A1,356,022
201 Zer=2 Y| 6,590 7,612 A1,022
01 Ak 2teltl 6,590 7,612 ~1,022
SHAE TADHZAE =8 +=EH|
4,814,000 4,814
OFAE ZAHZAY =2 =&l
1,776,000 1,776
202 Ot 3,120 3,120
01 2LH0IH 3,120 3,120
OFHAE ZAHZAE S F204I
3,120,000 3,120
208 BF 2| 3,600 3,600
03 A=A R =AY 3,600 3,600
OMEAY 2 s |2 P24
3,600,000 3,600
403 MXISHHS 201N 1,820,000 3,175,000 1,355,000
02 S| 2SI 2SS A 1,820,000 3,175,000 1,355,000
OQld2s & It 91,28 27 EXISA
1,820,000,000& 1,820,000
BEHACAl ZEAIY 8,109 8,109 0
201 Zer= Y| 5,836 5,836
01 At 2teltl 5,836 5,836
OBAEAl =& =S 5,836,000 5,836
202 O] 2,273 2,273 0
01 2oL 2,273 2,273 0
OFTIEAl =& ol 2,273,000 2,273
Y =S Y 44,368 44,368 0
[2ZHI(ZADHE D 44,368 44,368 0
SA2EH| 44,368 44,368 0
201 Let2aY| 28,679 28,679 0
01 At 2teltl 28,679 28,679 0
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P HAENSA
2 M SADND
& M dy¥=3Z EER=E)
AR - SN - BB - GBI - HRAY - BAS of v e HImS2
ENE2E-EH 15,079,000& 16,079
OJlzge-4d Sl 13,600,000 13,600
202 04| 10,889 10,889
01 2L AL 10,889 10,889
OJ|2g =8 0bl 10,889,000& 10,889
203 =] 4,800 4,800
M EASHLRFAH 4,800 4,800
SA2ELRFAH 4,800,000 4,800
HRES(SAIZ D 10,048,190 8,488,339 1,559,851
Al 8,588,190
H 1,460,000
LIS HHXIE 8,370,870 8,488,339 A117,469
tl== AclsaE 7,012,255 6,993,391 18,864
705 Ol==Eci=ae 7,012,255 6,993,391 18,864
03 Al - EXGHEI IS0 S et 6,000,000 6,000,000 0
SOISEE CANLAIY THHAIIH| 0%
= 2= o 6.,000,000,000& 6,000,000
04 Al - =XISHL IS0+ 01 Ahatat 1,012,255 993,391 18,864
Oz2A23E TAIHEAE THArZHl Ol
= OIAt afet 1,012,255,000& 1,012,255
tl==dcliset 1,358,615 1,494,948 136,333
705 Ol==2clsate 1,358,615 1,494,948 136,333
03 Al - ZXIFHED I S0==8 st 1,170,000 1,307,700 A137,700
FRINEE2 MEgAY KG9 DIs &
= o 1,170,000,000& 1,170,000
04 Al - SXISHE D= 0l=2 01 Kot 188,615 187,248 1,367
OZ2IEE2 HEsAIE NSHEDIS 0
At &bgh 188,615,000& 188,615
282 1,677,320 0 1,677,320
Al 217,320
H 1,460,000
A S0l AHatet 207,320 0 207,320
311 XS0l Aratat 207,320 207,320
02 Sat=8) |2 XS =0l Aate 207,320 207,320
OZeNEEZ HMstArY XM XY=
OIX}t &t 207,320,000 207,320
AL=E=aE 1,460,000 0 1,460,000
H 1,460,000
601 Mt s SatEt 1,460,000 0 1,460,000
H 1,460,000
2 Sat=s)|HLses e 1,460,000 0 1,460,000
OZNEBEZ XMSAYE X2 XS
Ha g 1,460,000,000& 1,460,000
H 1,460,000
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i r-Imi=rta el

Fl 3
£ M ZADHE R
M WRES(TADHZD (S &)
2 - SIE|
ARE| - A - B - S2A(SH) - HISA - BAS ofl &ty e HIRSZ
JBHEREE e 10,000 10,000
802 grat=DIE 10,000 10,000
03 JIEtEtE =SS 10,000 10,000
OJIENER S etgs 10,000,000& 10,000
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H & 0l & AHS B Ml A

A3 AENSARZZ
f AN ZROOI&IHE
=

o

M 2001 JHEH= =& (SH9 H2)
ARS) - A - FH - GI(S1H) - HRAY - BES Ol &t e Hlm=2
S CHOI S OHE 0t 17,829,849 14,668,829 3,161,020
SHOIE JHEA R =8 10,913,109 2,167,707 8,745,402
TR SSTHHX HEA= =8 2,145,940 175,140 1,970,800
M32sH & 507t S 01 19,760 25,140 5,380
201 ZB=EhI 16,520 18,800 A2,280
01 AlR2telHl 16,520 18,800 A2,280
OAIRIEHE S S 2
16,520,000& 16,520
202 04l 1,800 1,800
01 2LHA Y] 1,800 1,800
OZ=U 0|8 A28 SH0H|
1,800,000 1,800
203 P =2IY| 1,440 1,440
03 Al H 22| 1,440 1,440
OZ=U OI&8AE =8 & Ol&AIY =&
1,440,000& 1,440
HSF ZAAE S 01™ 376,180 0 376,180
207 ARl 376,180 0 376,180
01 A1 S| 376,180 0 376,180
OAET ZAAIE 018 DI=7e | BEd
XA 376, 180,000& 376,180
TESEZ 9 2 A 1,750,000 150,000 1,600,000
403 MXISHHS 201N 1,750,000 150,000 1,600,000
01 RIXIEHHIXt=EE 1,750,000 150,000 1,600,000
O=ZEET SIMESA
1,750,000,000& 1,750,000
BB RS AR =T 1,217,169 1,992,567 AT75,398
BIOE 2L 24 S 26,750 23,760 2,990
201 B2l 22,000 18,900 3,100
01 AlR2telHl 22,000 18,900 3,100
OAM2EUARE 28 S
22,000,000 22,000
202 04t 2,590 2,700 A110
01 A 2,590 2,700 A110
OBUOP 2E8Yot M S 248 EF
ol 2,590,000 2,590
203 AR =ZIH| 2,160 2,160
03 Al =X H 22| 2,160 2,160
OO gret - 28 s =4
2,160,000& 2,160
BIOE SAxY 200,000 0 200,000
401 AIEHIYL 20| 200,000 200,000
01 Al&€HI 200,000 200,000
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HE: ALDEFIAS
2 A RE00IEMNL
B SUO0IM HLHE FZ (el mel)
ARS| - A - HB - O9I(3]H) - MRAY - BES ofl v e HDS2
OMEDH ZHAY BYEIA 242
200,000,002 200,000
BIOPRY BRY HLB el 700,000 1,039,507 339,507
308 XXISHHISOI 700,000 939,507 239,507
18 2|2 SOICHEHZ AR P EARI b 700,000 939,507 £239,507
OTORY B HYB2H 212 IiThiy|
700,000, 0002 700,000
BIOP AIQ AS ALY 200,600 389,000 188,400
201 Lst2 Y| 199,100 389,000 189,900
01 AR 22lt] 8,100 9,000 900
ONIASAIY BIIRIRE 22 S
8,100,0002 8,100
03 #AL2 | 191,000 380,000 189,000
OO AlDIA2t 5] 91,000,0002! 91,000
OAZOPN 2ssUY T2 2
100,000,002 100,000
301 LBHRED 1,500 1,500
14 JIEH2 &3 1,500 1,500
OTOR! AlRIA2t5] 1,500,0002 1,500
BIOPN 0H0IZ (DIZ5H) A 89,819 540,300 450,481
207 1PNt 89,819 540,300 450,481
01 eipget| 89,819 540,300 450,481
OLITOPY 231 JISS 2 U T&HS
89,819,0002! 89,819
TADIPAIE 2= 7,550,000 0 7,550,000
SEHE-ZDNL CRMA 3% 2B 7,550,000 0 7,550,000
401 AIEHI L2 0B 7,550,000 0 7,550,000
01 Al 7,430,000 0 7,430,000
Ol 4,000,000,00024 4,000,000
OZAHI 3,430,000,0002 3,430,000
o 22| 00,000 0 100,000
ozl 100,000, 0002 100,000
03 Al& =Tt 20,000 0 20,000
OAIE=HE| 20,000, 0002 20,000
e 30,900 25,687 5,213
JI2ZHI(ZSH0IFIN L D) 30,900 25,687 5,213
=A 2| 30,900 25,687 5,213
201 Y2 Y| 17,250 13,860 3,390
01 ALl 17,250 13,860 3,390
ORN2Y+SH 10,530, 0002 10,530
OJI=yRas Il 6,720,002 6,720
202 01| 10,050 8,077 1,973
01 2LH0iH| 10,050 8,077 1,973
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FEs: AL NSRS
£ M ZR20O0IEINE
& M dy¥=3Z EEED
5 2 - SIE|
ARE| - A - B - S2A(SH) - HISA - BAS ofl &ty e HIRSZ
OJlzge=d 0| 10,050,000& 10,050
203 HE=H| 3,600 3,000 600
M A=Y= 3,600 3,000 600
ORANEgg =AY 3,600,000 3,600
NP S (ZFUHO0IAML D) 6,885,840 12,475,435 A\5,589,595
WEHHXIE 6,513,540 12,475,435 A5,961,8%
tl==dciaas 6,513,540 12,475,435 A5,961,8%
705 Ol=23cISais 6,513,540 12,475,435 A5,961,8%
01 Gl sdet 5,966,667 11,892,001 A\b5,925,334
020208 BLO SAFALY| H+=3
2 dE(sE2213)
5,966,667,000& 5,966,667
02 Oll===0lXtatet 290,631 483,434 192,803
020208 BEO2 S0l ol+==0l
X AEH(SE=2013) 290,631,000 290,631
03 Al - EXISHED I S0+==B e 200,000 50,000 150,000
ORES~Z2 T2HE 3%t 25+ Ol
=d= o= 200,000,000 200,000
04 Al - SXISOHE DS 0l=3 01 Kot 56,242 50,000 6,242
ORES~-F1H2 S2H4 3X 237 Ol
=0l ot 56,241,703 56,242
SHXE 372,300 0 372,300
A S0l Aot 372,300 0 372,300
311 XS0l Aratat 372,300 0 372,300
04 XS HSHOI Xttt 372,300 0 372,300
O20218 FEO|IZIIX S22 e XL
OIX}t &t 372,300,000 372,300
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H & 0l & AHS B Ml A

LIE3: HENEARS
£ M EXEE
g H: JAXRAFE (SH9 H2)
LIA3| - A - - H2((3) - HRAY - BES Oil &k %E&E" HwsZ
EXNEEW 3,236,838 3,308,314 AT1,476
= 1,542,091
Al 1,694,747
AKX HHEH A 2,298,101 2,295,094 3,007
= 1,234,091
Al 1,064,010
EXN#E A2} 1,125,733 1,181,338 255,605
= 1,089,091
Al 36,642
NLXHLIAS] 2 1,500 1,500
201 22 1,500 1,500
01 AtR2telbl 1,500 1,500
OXNYXNHARS| S
1,500,000& 1,500
ZHEIYSHERARE 29 9,000 9,000
201 L2 | 9,000 9,000
01 At 22|l 9,000 9,000
OZHEIIHSHERS &&s
9,000,000& 9,000
KIETHZAFAL (KI&) 797,259 875,308 278,049
= 797,259
308 AXIHMISOI & 797,259 875,308 A78,049
= 797,259
01 AXIEHEAExS 797,259 875,308 A78,049
O - 7 XNIEBTMEZAL ZEHI
797,259,000& 797,259
= 797,259
INESPN ESNIN R @SESH) 3,790 4,500 AT10
= 3,790
201 23| 3,790 4,500 AT10
= 3,790
01 AtR2telt] 3,790 4,500 AT10
OXIETHZAIAE 29 3,790,000& 3,790
= 3,790
INESPU YN QNS E=S] 15,100 15,100 0
201 LEH2 | 15,100 15,100
01 AtR2telt] 6,100 6,100
OXIEMEA 2123 29 2,100,000& 2,100
OXIETHZAL E2HI 4,000,000 4,000
03 A2 G| 9,000 9,000 0
OXAlIE L MIZBAUS(HAAE)2E
9,000,000& 9,000
IHEZBAIXIDE A 288,042 269,855 18,187




JHsl: AL DESI A
= M EXNERD
H oM SANEBHDS (=CR-E))
ARS| - A - HB - O9I(3]H) - MRAY - BES ofl v e HDS2
= 268,042
308 XX SISO 288,042 269,855 18,167
2 288,042
01 RXISHBLEES 288,042 269,855 18,167
OZ - P WEZAIKIDF FA
288,042, 0002 268,042
2 288,042
B ETEEEESY 6,042 2,475 3,567
201 Y2 | 2,442 2,475 £33
01 AR 2218 2,442 2,475 A3
OEX - B2 2ZHE K0
2,442,0002! 2,442
203 2= ZIY| 3,600 3,600
03 AIRZERIA2EXIY| 3,600 3,600
OEXSE AMAREY|
3,600,002 3,600
2SS4 YHE 22 ¥ B2 5,000 5,000
201 Y2y 5,000 5,000
01 AlR 2218 5,000 5,000
ORE4 HANE 24| 5,000,002 5,000
ENSEAHA DS 219,457 43,122 176,33
2 145,000
Al 74,457
NEETCIETSESIIESEE) 45,000 33,000 12,000
2 45,000
101 Q124 40,500 30,000 10,500
2 40,500
VBIESEEI TP 40,500 30,000 10,500
OXI=BRILS JIAH2ZT 22
40,500,002 40,500
= 40,500
202 01| 4,500 3,000 1,500
2 4,500
01 201 4,500 3,000 1,500
OX=BRIAS S301| 4,500,002 4,500
2 4,500
NEEEEET 34,457 5,422 29,035
201 Y2 17,457 5,422 12,035
01 AlR22lH] 5,000 0 5,000
OUE 23 AT ARE 2
5,000,002 5,000
® B2 12,457 5,422 7,035
OXNH=2RY| |2 1,572,002 1,572
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A ALDESIHS
2 N EXNESD
oM MANEHHDE (Hol: &)
ARS| - A - HB - O9I(3]H) - MRAY - BES ofl v e HDS2
OXNHTHBMBAAH S22
3,850, 0002 3,850
OXNEHM2AE SN e 7,035,002 7,035
405 Ttarz SY 17,000 17,000
01 AU SZ S| 17,000 17,000
OE=2H 7 17,000,002 17,000
DISZEX L G&XHT HUIAI (KR) 140,000 0 140,000
2 00,000
Al 40,000
308 XX SIS0 140,000 0 140,000
2 100,000
Al 40,000
01 RXSHBLEES 140,000 0 140,000
OSHEXHEH HH| Al
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13 272+ S 0 CHEH 3 AL E SISt At 300,000 300,000
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=AFE AL 82 12,000 2,000 10,000
201 Zet=E] 12,000 2,000 10,000
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Al 300,000
AL UOHIEHX SSHIILs KSAAE 152,470 116,950 35,520
308 AHXIEMSOIE 152,470 116,950 35,520
01 AN EL 152,470 116,950 35,520
OZ O EEK 2N
& 162,470,000 152,470
TAIZCH AP 2,509,000 0 2,509,000
) 2,509,000
308 AXIHSO0IA 2,509,000 0 2,509,000
Il 2,509,000
13 SIS0t 34 A AS A 2,509,000 0 2,509,000
OXMST A 2,509,000,000& 2,509,000
Jl 2,509,000
FAS0 AL 231,774,050 219,601,138 12,172,912
= 214,849,000
Al 16,925,080
308 XX HMS0IA 231,774,050 219,601,138 12,172,912
= 214,849,000
Al 16,925,080
01 XN B2 LS 231,774,050 219,601,138 12,172,912
F=AHAS0 AL 231,774,050,000& 231,774,050
= 214,849,000
Al 16,925,050
ZOHR! =EOHZALS 342,000 342,000 0
= 228,000
Al 114,000
403 XIS A=201 342,000 342,000 0
= 228,000
Al 114,000
01 XA A= 342,000 342,000 0
OHoHel ==& N 342,000,000 342,000
= 228,000
Al 114,000
R CH At 55,125,000 0 55,125,000
Il 55,125,000
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Jl 55,125,000
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ARS) - A - FH - GI(S1H) - HRAY - BES Ol &t e Hlm=2
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308 AXIHSOIA 200,000 260,000 60,000
= 100,000
Al 100,000
13 S 2SS &4 X 2AS A 200,000 260,000 60,000
OZgzeld S2AE 200,000,000 200,000
= 100,000
Al 100,000
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= 50,000
Al 20,000
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= 50,000
Al 20,000
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Ol A= NS 29
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Al 700,000
HIZAHK HF=AE OIAHl RIZALY 300,000 0 300,000
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Al 100,000
308 ARISHHSOIH 300,000 0 300,000
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Al 100,000
01 MRS LExS 300,000 0 300,000
OHIE&NH™ H=Xt OlAHH] XI& AL
300,000,000& 300,000
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LRS- A - FH - S2(3) - HIRAY - BHES Ofl &kl %Eg‘% Hns2
01 MASHBAERS 75,000 75,000 0
O=sFY 2| SAA 2REE HEAY
75,000,000 75,000
FMNIADI HlohRI 1,108,040 0 1,108,040
QIMZAAl HALICH XNJAHH 29 76,040 0 76,040
201 LEt29Y| 76,040 0 76,040
01 Al22t2|H| 56,240 0 56,240
OIMYUAAl MATGHAIRAE 2 btz
2H] 34,400,000 34,400
OLIEZBAAN MALIGHKIRHME 28 dX=
21,840,000 21,840
2 Z329Y| 19,800 0 19,800
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SIB| - A - B . S2(3) - HSAY - BAS 0l &y O HIRS2
SAIZEE R 9,338,274 15,820,259 6,481,985
AT THAAIE F=& 307,621 290,951 16,670
SAITHAEALR =& 307,621 290,951 16,670
SATHMAIY 2435 2 /23 29 307,621 290,951 16,670
201 Let2IH| 163,580 146,000 17,580
01 AtR2teldl 163,580 146,000 17,580
OSANMYEI 24 S|
123,380,000 123,380
OZAHMR AT 2H 10,000,000& 10,000
OZAIMEHIRES 29 10,000,000& 10,000
OSAIHY REAIY 82 2%
12,000,000& 12,000
O AITHMAIY X245 2,000,000& 2,000
OSAITHMAIY 2HHAE AN 2 L H2NZ
oINS 6,200,000 6,200
202 o481 116,681 116,091 590
01 =ZLHOdHI 7,681 7,091 590
OSAITHMAIY 2231 K|
3,491,000& 3,491
OZAITHME 2Ot 2k 04|
4,190,000 4,190
03 =2 H20bl 109,000 109,000 0
OZAIMMAEZIL 2 =22/04H|
109,000,000& 109,000
203 YR =&IH| 26,160 26,160
03 AMBFAAHRF=LIH| 26,160 26,160
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O ATHY SSAIS =R 9,400,000& 9,400
O AITHMALY =& 4,200,000& 4,200
301 LEtBENZ 1,200 2,700 21,500
11 HALRHIXIAZ 1,200 2,700 21,500
O A 2453 RIH 1,200,000& 1,200
HE2FZH| 42,470 43,842 N1,372
JI2BH(ZAIZEE 2D} 42,470 43,842 N1,372
2M29h| 42,470 43,842 N1,372
201 Let2AY| 21,110 22,026 AN916
01 At22teld| 21,110 22,026 N916
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Q20244 Tr22eloie SEAIH
498,400,000& 498,400
= 356,000
Al 142,400
Ols=clx 2 90,000 90,000 0
= 45,000
Al 45,000
307 212t01& 90,000 90,000 0
= 45,000
Al 45,000
02 QIZHHMAIAE 90,000 90,000 0
O EIIXM ols=elA 2
90,000,000& 90,000
= 45,000
Al 45,000
2 2 DX KT~ 50,000 50,000
403 AXIEHHSAH=201d 50,000 50,000
01 XM= 22X 50,000 50,000
O 24l I K& 50,000,000 50,000
AUHAHE 243t 790,140 1,624,320 A834,180
= 291,280
Al 498,860
SAIE J=WF(AH0En nsH|) 200,000 0 200,000
= 140,000
Al 60,000
201 et23| 140,000 0 140,000
= 98,000
Al 42,000
03 A= I 140,000 0 140,000
OoFosn 29 140,000,000 140,000
= 98,000
Al 42,000
202 04| 5,000 0 5,000
= 3,500
Al 1,500
01 =ZLHOIY| 5,000 0 5,000
O70istll PR =LH0I
5,000,000& 5,000
= 3,500
Al 1,500
301 22N = 55,000 0 55,000
= 38,500
Al 16,500
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A3 ALNSHA23
2 M DX AH
3 M =)leEs % 2UEEY (St &)
A3 - 2 - B - SA(BH) - MM - BES Off &bod %E%E" HwsZ
11 SAIAHIXIZ 2 55,000 0 55,000
O#oigtn 23 55,000,000& 55,000
= 38,500
Al 16,500
TAI OESRX A 400,000 0 400,000
308 AXIHMSOIA 400,000 400,000
1B 3J|2soteE 400,000 400,000
OZAg oERA &
400,000,000 400,000
4 ol =X 170,340 77,520 92,820
= 140,280
Al 30,060
308 KHXIEMISOIE 170,340 77,520 92,820
= 140,280
Al 30,060
01 HXHHBAEES 170,340 77,520 92,820
oFd oz Z&XE 170,340,000& 170,340
= 140,280
Al 30,060
A o= X (#EY 3,000 1,800 1,200
= 2,000
Al 1,000
308 XtXIEMSO0IE 3,000 1,800 1,200
= 2,000
Al 1,000
01 HREHH B EES 3,000 1,800 1,200
oFd oE F=aXE
3,000,000 3,000
= 2,000
Al 1,000
HENI HEE 12,000 12,000 0
= 6,000
Al 6,000
307 212t01™ 12,000 12,000 0
= 6,000
Al 6,000
02 QI EANEE X 12,000 12,000 0
OO =2l X 12,000,000& 12,000
= 6,000
Al 6,000
HgesAa 4,800 8,000 A3,200
= 3,000
Al 1,800
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A3 ALNSHA23
2 M DX AH
3 M =)leEs % 2UEEY (St &)
A3 - 2 - B - SA(BH) - MM - BES Off &bod %Eg‘% HwsZ
308 XXM SOIH 4,800 8,000 23,200
= 3,000
Al 1,800
01 HRESHHBAEES 4,800 8,000 23,200
Ooolgasid 4,800,000 4,800
= 3,000
Al 1,800
HH =S 3 1,333,942 1,328,295 5,647
= 11,000
= 721,000
Al 601,942
CIARAH| (=4 =X HIEH) 1,049,638 1,031,991 17,647
= 555,412
Al 494,226
SMOHRAE X (B 4)-l= 2| 1,049,638 1,031,991 17,647
o 565,412
Al 494,226
101 @124H| 1,049,638 1,031,991 17,647
s 565,412
Al 494,226
01 2= 1,049,638 1,031,991 17,647
O == 768,682
SL=] 96,030,000& 1 96,030
= 57,077
Al 38,953
obg 79,179,000& »2H 158,358
o 85,803
Al 72,555
obg 4,183,500 x4H» 128 200,808
= 53,443
Al 147,365
o7s 3,216,400 x3F«12& 115,791
= 87,851
Al 27,940
=85 2,208,203 x 12128 26,49
s 14,102
Al 12,397
S =) 1,922,300 x 18+ 123 23,068
= 12,158
Al 10,910
o EXI A 3,086,000& x4H«12& 148,128
o 96,859
Al 51,269
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AR5 AL DSV
S OA: SIETIAHE
BT ESEI (el &2
ARS - A - FB - SRA(SH) - HRAY - BES Ol v e HimE==l
Oz24g 40,798
=62 4,183,5002 42 16,734
2 4,100
Al 12,634
o738 3,216,40024:3%) 9,650
2 7,000
Al 2,650
=82 1,104, 100201 1,105
2 700
Al 405
o932 %1, 1502112 %2
2 600
Al 362
SEN 3,086,6002! 42 12,347
2 8,433
Al 3,914
OJt=4g 9,120
LB 40,0002!#1224+ 128 5,760
2 3,568
Al 2,172
oF -t 20,0002 +5% + 122 1,200
2 924
Al 276
oS X 60,0002 324+ 128 2,160
2 1,188
Al 972
OF24LIHZ 10,080
S251101 8¢ 30,0002 +124+ 12 1,560
2 1,404
Al 166
©20-250] 2 10,0002 12+ 128 1,320
2 726
Al 504
©16-20A0] ¢ 3,840,000 3,840
2 1,584
Al 2,256
©10~150] 8¢ 60,0002 324+ 128 2,160
2 1,584
Al 576
o5-100]2¢ 50,0002 +2%+ 12 1,200
2 750
Al 450
onese 3,642
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A3 ALUWSAAS
2 M =&D|=XJHH
=B T (el @
SRS - R - BE - SRA(A) - MFAY - BYS 0l &t e HimE=T
Sl 171,524 x 1B+ 123 2,059
s 1,09%6
Al 963
78 131,8732x 18+ 12& 1,583
s 901
Al 682
Oll=gRsY 5,280
o=bg 50,0002 18+ 123 600
s 330
Al 270
o672 30,0003 x5« 12& 1,800
sy 990
Al 810
=892 20,0002 x2H 123 480
s 264
Al 216
o HEX T A 50,0002 x4« 123 2,400
s 1,650
Al 750
OJI=gR2I=3 4,200
< J|A 30,0002 x9H 123 3,240
s 1,782
Al 1,458
o AFATAL 20,0002 +4H+ 123 960
s 528
Al 432
OfEZR+Y(S
50,0003 x4H+ 128 2,400
s 1,650
Al 750
Oz=l22=< 78,832
obg 14,6923 2«37 A2+ 123 13,047
s 6,943
Al 6,104
Sl 12,5312 4B +37 Al 2++ 123 22,25
Fas 5,922
Al 16,334
7= 11,3192 x3H«37 A1 2+~ 123 15,077
s 10,698
Al 4,379
=82 10, 1622+ 1H+37 Al 2H+ 128 4,512
s 2,402
Al 2,110
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PR3 ALNSARS
£ M sDIEXANH
8 X dydE2g3| EEREE
ARS) - A - FH - GI(S1H) - HRAY - BES Ol &t e HIDS2
=9z 9,6203x1H+37AI 2+ 122 4,272
= 2,170
Al 2,102
SO0 EXIZAH
11,0742 x4 37 A 2+ 122 19,668
[as 13,082
Al 6,586
OFSE=la] 140,0008 x 162~ 12& 26,880
= 14,784
Al 12,096
OE &SIl 51,434
Sl= 5,020,200 x4& 20,081
[as 6,712
Al 13,369
o7g 3,859,680 3 11,580
= 8,200
Al 3,380
=8z 2,649,840819 2,650
fas 1,400
Al 1,250
SEE 2,306,760 1< 2,307
[as 1,200
Al 1,107
SOHEXZA 3,703,920 x4 14,816
= 8,800
Al 6,016
OS2 att| 8,630
SL= 894,680 * 1 895
Fas 500
Al 395
SEE 79, 42082 1,589
= 800
Al 789
Sl= 509,635 x4 2,39
fas 590
Al 1,809
erg 461,0173»3H 1,384
= 1,035
Al 349
=8z 316,509 * 1 317
= 180
Al 137
=9z 275,5303 1 276
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PIEZ: HENSARS
£ M LD |=XI2HE
g M d¥2dAE]| EEED
QAR - 2N - FHE . SQ(3H) - HISAY - BES ofl Ak &]E{oﬁ. HRE2Z
s 160
Al 116
o EX A 442,413 x4 1,770
s 1,200
Al 570
OsRIFS 100,000 x2H*12& 2,400
OXSE x| 37,260
S 400,000 x1E+12& 4,800
s 2,640
Al 2,160
=55 250,000 x2H « 128 6,000
= 3,300
Al 2,700
=65 175,000 x4 H« 123 8,400
s 2,178
Al 6,222
o738 165,000 3+ 123 5,940
s 4,092
Al 1,848
=895 155,000 x2H 123 3,720
= 1,914
Al 1,806
oHEXI At 175,000 x4 Z« 123 8,400
s 5,445
Al 2,955
JI2gHl(==AD|=XIJAME) 284,304 296,304 /12,000
= 11,000
s 165,588
Al 107,716
MU LI XN R (BE)-RA23H] 239,304 236,304 3,000
s 152,588
Al 86,716
201 L= 194,044 191,044 3,000
s 117,565
Al 76,479
01 A2t 102,500 31,000 71,500
ORAN2Y dit==ZH|(J1=23HI)
23,000,000& 23,000
= 13,000
Al 10,000
o=l 8,000,000& 8,000
s 5,000
Al 3,000
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dIE]
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oH oK &
OF K R0
1o <t 30
ERE
< RO
& <k %0

]]

CEE:
o
oF IF RO

268,500

dEc
Ofl xt ol

160,044

24,000

24,000

6,860

3,300

560

3,000

14,400

4,800

9,600

Off &H2h

71,500
45,000
26,500
91,544
91,544
50,000
27,000
23,000
13,000

8,000
5,000
28,544
19,565
8,979
24,000
14,323

9,677

24,000

Al

Al

H

Al

Al

Al

17,000
10,000
7,000
7,000
4,323
2,677
6,860
6,300

Al

m

Al

1

560
3,300
3,300
3,300

Al

H

560
560
3,000
3,000
3,000
14,400
14,400
4,800
4,800

4,800

9,600

m

H

* HRAY - BES

- S2A(3)

- 3

71,500,000

30
0K
[H0
M0

50,000,000

13,000,000

ol
XJ

n0

o A& EHI= X

28,544,000

202 04|

01 2L AL

17,000,000

7,000,000

Kl
KF
-
ol

3,300,000

560,000

0B

3,000,000

0
=
10

o

Rr

R0
0

ok
ol

Rl
Rr

4,800,000
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<k %0
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CEE:
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A21,000

A21,000

/21,000

6,000

6,000

6,000

ralE)
Ol ko

55,000

55,000

55,000

5,000

5,000

5,000

Off &H2h

9,600

9,600
34,000
13,000
21,000
34,000
13,000
21,000

34,000

w

H

Al

Al

34,000
13,000
21,000
11,000
11,000
11,000
11,000
11,000

Al

11,000
11,000

* HRAY - BES

- S2A(3)

- 3

9,600,000&

O

o

RO

[SHl

Kk
<J

F

405 Xt

D
ur
H0
Ol

01 Xbatsd

i

34,000,000

]

ur
Kk
od

F

405 Xt

01 Xpatsd

OMIINSIHBBEE) RHEX

11,000,000&
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